
CHEMISTRY

BOOKS - MTG CHEMISTRY (ENGLISH)

REDOX REACTIONS

Mcqs Redox Reactions In Terms Of Electron Transfer Reactions

1. Which of the following statements is not true?

A. In a chemical reaction, oxidation is always accompanied by

reduction.

B. When a negative ion changes to neutral species, the process is

oxidation,

C. Oxidising agent has a tendency to lose electrons.

D. Conversion of  to  is oxidation.MnO2 −
4

MnO−
4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fjh5WDQE00KD


Answer: C

Watch Video Solution

2. Which of the following is not a redox reaction ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CuO + H2 → Cu + H2O

Na + H2O → NaOH + H2

1

2

CaCO3 → CaO + CO2

2K + F2 → 2KF

3. Which substance is serving as a reducing agent in the following

reaction? 

14H + + Cr2O
2 −
7 + 3Ni → 2Cr3 + + 7H2O + 3Ni2 +

https://dl.doubtnut.com/l/_fjh5WDQE00KD
https://dl.doubtnut.com/l/_VyzdzMDZtD1A
https://dl.doubtnut.com/l/_JCtOB3LzKwbB


Mcqs Oxidation Number

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cr2O
2 −
7

Ni

H +

H2O

1. Which of the following is not a rule for calculating oxidation number ?

A. For ions, oxidation number is equal to the charge on the ion.

B. The oxidation number of oxygen is -2 in all of its compounds.

C. The oxidation number of fluorine is -1 in all of its compounds.

https://dl.doubtnut.com/l/_JCtOB3LzKwbB
https://dl.doubtnut.com/l/_bwDRQUoUQ3jd


D. Oxidation number of hydrogen is +1 except in binary hydrides of

alkali metals and alkaline earth metals where it is -1.

Answer: B

Watch Video Solution

2. The oxidation number of carbon in  is

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2Cl2

+1

+2

+4

https://dl.doubtnut.com/l/_bwDRQUoUQ3jd
https://dl.doubtnut.com/l/_mECj0pENZqRW


3. Oxidation state of iron in  is

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

Fe(CO)4

+1

−1

+2

4. The oxidation states of sulphur in the anions ,

and  follow the order

A. 

B. 

C. 

D. 

SO2 −
3 , S2O

2 −
4 , SO2 −

4

S2O
2 −
6

S2O
2 −
4 > S2O

2 −
6 > SO

2 −
4 > SO2 −

3

S2O
2 −
6 > SO2 −

3 > S2O
2 −
4 > SO

2 −
4

SO
2 −
4 > S2O

2 −
6 > SO2 −

3 > S2O
2 −
4

SO2 −
3 > SO

2 −
4 > S2O

2 −
4 > S2O

2 −
6

https://dl.doubtnut.com/l/_tOK3C1vbWoWd
https://dl.doubtnut.com/l/_0SjkclyzbqBv


Answer: C

Watch Video Solution

5. Oxidation numbers of Mn in its compounds

 and  respectively are:-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MnCl2, Mn(OH)3, MnO2 KMnO4

+2, + 4, + 7, + 3

+2, + 3, + 4, + 7

+7, + 3, + 2, + 4

+7, + 4, + 3, + 2

6. Arrange the oxides of nitrogen in increasing order of oxidation state of

N from +1 to +5.

https://dl.doubtnut.com/l/_0SjkclyzbqBv
https://dl.doubtnut.com/l/_Qa7sl2CbkBkp
https://dl.doubtnut.com/l/_zaGVa9G6G4eA


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2O < N2O3 < NO2 < N2O5 < NO

N2O < NO < N2O3 < NO2 < N2O5

N2O5 < NO2 < N2O3 < NO < N2O

NO < N2O < NO2 < N2O3 < N2O5

7. The oxidation state of  in  is

A. 

B. 

C. 

D. 0

Answer: A

Watch Video Solution

S H2S2O8

+6

+7

+8

https://dl.doubtnut.com/l/_zaGVa9G6G4eA
https://dl.doubtnut.com/l/_RaXvU66FCPLE


8. Match the compounds given in column I with oxidation states of

carbon given in column II and mark the appropriate choice. 

A. (A)  (iv), (B)  (iii), (C)  (ii), (D)  (i)

B. (A)  (i), (B)  (ii), (C)  (iii), (D)  (iv)

C. (A)  (ii), (B)  (iii), (C)  (iv), (D)  (i)

D. (A)  (iii), (B)  (ii), (C)  (i), (D)  (iv)

Answer: A

Watch Video Solution

Column I Column II

(A) C6H12O6  (i)   +3

(B) CHCl3  (ii)   -3

(C) CH3CH3  (iii)   +2

(D) (COOH)
2

 (iv)   0

→ → → →

→ → → →

→ → → →

→ → → →

9. Among the following identify the species with an atom in  oxidation

state.

+6

https://dl.doubtnut.com/l/_RaXvU66FCPLE
https://dl.doubtnut.com/l/_EmJ2vP4ApTER
https://dl.doubtnut.com/l/_YNiMyE8RGazn


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

MnO
−
4

Cr(CN)3 −
6

NiF 2 −
6

CrO2Cl2

10. The pair of the compounds in which both the metals are in the

highest possible oxidation state is,

A. 

B. 

C. 

D. 

Answer: B

MnO2, FeCl3

MnO
−
4 , CrO2Cl2

MnCl2, CrCl3

[NiCl4]2 − , [CoCl4] −

https://dl.doubtnut.com/l/_YNiMyE8RGazn
https://dl.doubtnut.com/l/_ebpwSBbNZjlf


Watch Video Solution

11. An element that never has a positive oxidation state in any of its

compounds is

A. O

B. N

C. Cl

D. F

Answer: D

Watch Video Solution

12. Oxidation number if iodine in  respectively are

A. 

B. 

IO−
3 , IO−

4 , KI and I2

−2, − 5, − 1, 0

+5, + 7, − 1, 0

https://dl.doubtnut.com/l/_ebpwSBbNZjlf
https://dl.doubtnut.com/l/_MfehlhmMfrJo
https://dl.doubtnut.com/l/_jgJdaL4JOFoI


C. 

D. 

Answer: B

Watch Video Solution

+2, + 5, + 1, 0

−1, + 1, 0, + 1

13. Various oxidation states of few elements are mentioned. Which of the

options is not correctly matched ?

A. a. Phosphorus: +3 to +5

B. b. Nitrogen : +1 to +5

C. c. Iodine : -1 to +7

D. d. Chromium : +3 to +6

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_jgJdaL4JOFoI
https://dl.doubtnut.com/l/_cseLv9Iiyvks
https://dl.doubtnut.com/l/_ukZJcjk1jM0l


14. Carbon is in the lowest oxidation state in

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH4

CCl4

CF4

CO2

15. Which of the following is a decreasing order of oxidation states of the

central atoms?

A. (A) 

B. (B) 

C. (C) 

D. (D) 

PCl5, HIO4, Cl2O
2 −
7 , Cl2O

Cr2O
2 −
7 , Cl2O, HIO4, PCl5

HIO4, Cr2O
2 −
7 , PCl5, Cl2O

Cr2O
2 −
7 , HIO4, Cl2O, PCl5

https://dl.doubtnut.com/l/_ukZJcjk1jM0l
https://dl.doubtnut.com/l/_R3avWaCa1sn0


Answer: C

Watch Video Solution

16. Which compound amongst the following gas the highest oxidation

number of Mn? 

A. (A) 

B. (B) 

C. (C) 

D. (D) 

Answer: A

Watch Video Solution

KMnO4, K2MnO2, MnO2 and Mn2O3

KMnO4

K2MnO4

MnO2

Mn2O3

https://dl.doubtnut.com/l/_R3avWaCa1sn0
https://dl.doubtnut.com/l/_HpSxKElgoCij


17. Match the column I with column II and mark the appropriate choice. 

A. (A)  (iii), (B)  (i), (C)  (ii), (D)  (iv)

B. (A)  (iii), (B)  (iv), (C)  (ii), (D)  (i)

C. (A)  (i), (B)  (iii), (C)  (ii), (D)  (iv)

D. (A)  (iv), (B)  (ii), (C)  (i), (D)  (iii)

Answer: B

Watch Video Solution

→ → → →

→ → → →

→ → → →

→ → → →

https://dl.doubtnut.com/l/_Gw9LYy8oGtvt


18. In which of the following compounds oxidation state of chlorine has

two different values?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CaCl2

NaCl

CaOCl2

CCl4

19. The oxidation number of nitrogen in  is

A. 

B. 

C. 

D. 

(N2H5) +

−2

+2

+3

−3

https://dl.doubtnut.com/l/_bVBbfmYcd5zC
https://dl.doubtnut.com/l/_Nt8FwQg3PFh8


Answer: A

Watch Video Solution

20. Fill up the table from the given choice. 

A. 

B. 

C. 

D. 

Answer: B

(i) (ii) (iii) (iv) (v) (vi)

+1 +1 Cl +1 −1 +2

(i) (ii) (iii) (iv) (v) (vi)

−1 +2 F +1 −1 −2

(i) (ii) (iii) (iv) (v) (vi)

−1 +1 F +1 +2 +2

(i) (ii) (iii) (iv) (v) (vi)

+2 +2 Cl +1 +1 +6

https://dl.doubtnut.com/l/_Nt8FwQg3PFh8
https://dl.doubtnut.com/l/_xPZtalfpIldS


Watch Video Solution

21. Mark the correct statement from the following :

A. Copper metal can be oxidised by  ions.

B. Oxidation number of phosphorus in  is 4

C. An element in the highest oxidation state acts only as a reducing

agent.

D. The element which shows highest oxidation number of +8 is Os in

Answer: D

Watch Video Solution

Zn2 +

P4

OsO4

22. Which compound among the following has lowest oxidation number

of chlorine ?

https://dl.doubtnut.com/l/_xPZtalfpIldS
https://dl.doubtnut.com/l/_pWytnNkC5sCP
https://dl.doubtnut.com/l/_MK8zKw63spo8


A. 

B. 

C. HCl

D. HOCl

Answer: C

Watch Video Solution

ClF3

HClO3

23. Which of the following oxidation numbers is not correctly matched ?

A. Cl in 

B. Ni in 

C. P in 

D. Cr in 

Answer: C

Watch Video Solution

HClO4

[Ni(CN)6]
4 −

= + 2

Mg2P2O7 = + 6

(NH4)2Cr2O7 = + 6

https://dl.doubtnut.com/l/_MK8zKw63spo8
https://dl.doubtnut.com/l/_rTjimjAk5CMn


24. Examples of few compounds in a particular oxidation state are given.

Mark the example which is not correct.

A. P in 

B. Chlorine in +7 oxidation state 

C. Chromium in +6 oxidation state 

D. Carbon in 0 oxidation state 

Answer: B

Watch Video Solution

H2PO2 = + 1

−HClO

−CrO2Cl2

−C12H22O11

25. The oxidation numbers of the sulphur atoms in pcroxy-

monosulphuric acid  and peroxydisulphuric acid  are

respectively.

A. 

(H2SO5) (H2S2O8)

+8, + 7

https://dl.doubtnut.com/l/_rTjimjAk5CMn
https://dl.doubtnut.com/l/_EiPisQbcDc10
https://dl.doubtnut.com/l/_Tqs4pCW3uDxD


B. 

C. 

D. 

Answer: C

Watch Video Solution

+3, + 3

+6, + 6

+4, + 6

26. Which is not true about the oxidation state of the following elements

?

A. Sulphur +6 to -2

B. Carbon +4 to -4

C. Chlorine +7 to -1

D. Nitrogen +3 to -1

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Tqs4pCW3uDxD
https://dl.doubtnut.com/l/_Ecfzqr7VF60o


27. O.N. (Oxidation Number) of Fe in  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K4[Fe(CN)6]

+2

+3

+4

+6

28. Arrange the following in increasing order of oxidation state of Ni. 

A. 

B. 

C. 

K2[Ni(CN)4], K2[NiF6], Ni(CO)4

Ni(CO)4, K2[Ni(CN)4], K2[NiF6]

K2[Ni(CN)4], Ni(CO)4, K2[NiF6]

Ni(CO)4, K2[NiF6], K2[Ni(CN)4]

https://dl.doubtnut.com/l/_Ecfzqr7VF60o
https://dl.doubtnut.com/l/_YrJiDEop6sb1
https://dl.doubtnut.com/l/_pGsn2hSQSfCz


D. 

Answer: A

Watch Video Solution

K2[NiF6], K2[Ni(CN)4], Ni(CO)4

29. The correct sequence of the oxidation state of underlined elements is 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2[Fe–––(CN)5NO], K2Ta–––F7, Mg2P–– 2O7, Na2S––4O6, N––3H

+3, + 5, + 5, + 2.5, −
1

3

+5, + 3, + 5, + 3, +
1

3

+3, + 3, + 5, + 5, −
1

3

+5, + 5, + 3, + 2.5, +
1

3

https://dl.doubtnut.com/l/_pGsn2hSQSfCz
https://dl.doubtnut.com/l/_1pKEOCwmjBAm


30. What are the oxidation states of phosphorus in the following

compounds ? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H3PO2, H3PO4, Mg2P2O7, PH3, HPO3

+1, + 3, + 3, + 3, + 5

+3, + 3, + 5, + 5, + 5

+1, + 2, + 3, + 5, + 5

+1, + 5, + 5, − 3, + 5

31. In which of the following compounds carbon is in highest oxidation

state ?

A. 

B. 

CH3Cl

CCl4

https://dl.doubtnut.com/l/_08I6gNyG78TY
https://dl.doubtnut.com/l/_u6k1gDUS1gG8


C. 

D. 

Answer: B

Watch Video Solution

CHCl3

CH2Cl2

32. The oxidising state of molybdenum in its oxo complex species 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[Mo2O4(C2H4)2(H2O)]
2 −

+2

+3

+4

+5

https://dl.doubtnut.com/l/_u6k1gDUS1gG8
https://dl.doubtnut.com/l/_SKAQY86JvW6H
https://dl.doubtnut.com/l/_ohsxCKLWa2SD


33. Oxidation number of  in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P Ba(H2PO2)2

+3

+2

+1

−1

34. Which of the following can act as oxidising as well as reducing agent?

A. 

B. 

C. 

D. 

H2O2

SO3

H2SO4

HNO3

https://dl.doubtnut.com/l/_ohsxCKLWa2SD
https://dl.doubtnut.com/l/_4fJ7OigjQCv9


Answer: A

Watch Video Solution

35. When a piece of sodium metal is dropped in water, hydrogen gas

evolved because

A. sodium is reduced and acts as an oxidising agent

B. water is oxidised and act as a reducing agent

C. sodium loses electrons and is oxidised while water is reduced

D. water loses electrons and is oxidised to hydrogen.

Answer: C

Watch Video Solution

36. In the reaction, 

. I2 + 2S2O
2 −
3 → 2I − + S4O

2 −
6

https://dl.doubtnut.com/l/_4fJ7OigjQCv9
https://dl.doubtnut.com/l/_9ZRLWaEydKVP
https://dl.doubtnut.com/l/_f66EdJ02tDOD


A.  is reducing agent.

B.  is oxidising agent and  is reducing agent

C.  is oxidising agent.

D.  is reducing agent and  is oxidising agent.

Answer: B

Watch Video Solution

I2

I2 S2O
2 −
3

S2O
2 −
3

I2 S2O
2 −
3

37. In the reaction  :-

A. Chlorine is oxidised

B. Chlorine is reduced.

C. Chlorine is oxidised as well as reduced.

D. Chlorine is neither oxidised nor reduced.

Answer: C

Watch Video Solution

:Cl2 + OH − → Cl− + ClO
−
4 + H2O

https://dl.doubtnut.com/l/_f66EdJ02tDOD
https://dl.doubtnut.com/l/_jhWOXzZDM9aQ


38. Consider the following reaction :

Which of the following statements regarding oxidation and reduction is

correct?

A. HCHO is oxidised to  and  is reduced to Ag.

B. HCHO is reduced to  and  is oxidised to

Ag.

C.  is reduced to Ag while  is oxidised to 

D.  is oxidised to  while HCHO is reduced to .

Answer: A

Watch Video Solution

HCHO + 2[Ag(NH3)2]
+

+ 3OH − → 2Ag + HCOO− + 4NH3 + 2H2O

HCOO− [Ag(NH3)2]
+

ddHCOO− [Ag(NH3)2]
+

[Ag(NH3)2]
+

OH −

HCOO−

[Ag(NH3)2]
+

NH3 H2O

https://dl.doubtnut.com/l/_jhWOXzZDM9aQ
https://dl.doubtnut.com/l/_zdgwYuFPLAAd


39. Identify the compounds which are reduced and oxidised in the

following reaction: 

A.  is oxidised and  is reduced.

B.  is oxidised and  is reduced.

C.  is both reduced and oxidised.

D. This is not a redox reaction.

Answer: A

Watch Video Solution

3N2H4 + 2BrO−
3 → 3N2 + 2Br− + 6H2O

N2H4 BrO−
3

BrO−
3 N2H3

BrO−
3

40. Identify the oxidant and reductant in the following redox reaction: 

A. Oxidation of potassium manganate is taking place.

B. Reduction of potassium manganate is taking place.

2K2MnO4 + CI2 → 2KCI + 2KMnO4

https://dl.doubtnut.com/l/_yociVDNziJVd
https://dl.doubtnut.com/l/_4Dcig5f3hRWY


C. Oxidation of  is taking place.

D.  acts as reducing agent in the reaction.

Answer: A

Watch Video Solution

Cl2

Cl2

41. Indicate whether the following conversions represent an oxidation, a

reduction or none (neither oxidation nor reduction). 

(i)  to  (ii)  to  


(iii)  to  (iv)  to  


(v)  to 

A. 

B. 

C. 

D. 

Answer: B

HClO3 HClO4   NH
+

4 NH3

NO2 N2O4   HSO−
3 SO

2 −
4

H2O2 H2O

   (i)   (ii) (iii) (iv)    (v)

Oxidation Reduction None None Oxidation

   (i)  (ii) (iii)   (iv)    (v)

Oxidation None None Oxidation Reduction

   (i)  (ii) (iii)   (iv)    (v)

Reduction Oxidation Reduction None Reduction

   (i)  (ii) (iii)   (iv)    (v)

Oxidation Reduction None Reduction Reduction

https://dl.doubtnut.com/l/_4Dcig5f3hRWY
https://dl.doubtnut.com/l/_PCDNBKswfakU


Watch Video Solution

42. In which of the following reactions, the underlined substance has

been reduced ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu–––– + CuO → CO2 + Cu

CuO––––– + 2HCl → CuCl2 + H2O

4H––––2
–
O–– + 3F → 4H2 + Fe3O4

C–– + 4HNO3 → CO2 + 2H2O + 4NO2

43. A compound contains atoms X,Y and Z. the oxidation number of X is

, of Y is  and of Z is . The possible formula of the compound is

A. 

+2 +5 −2

XYZ2

https://dl.doubtnut.com/l/_PCDNBKswfakU
https://dl.doubtnut.com/l/_mvc1VLtq88ni
https://dl.doubtnut.com/l/_q2APPDHK6uge


B. 

C. 

D. 

Answer: C

Watch Video Solution

Y2(XZ3)2

X3(Y Z4)2

X3(Y4Z)2

44. Consider the following reactions, 

(I) 

A.  is oxidised and  acts as oxidising agent.

B.  is oxidised and acts as oxidising agent.

C.  is reduced and acts as oxidising agent.

D.  is oxidised and  acts as a oxidising agent.

Answer: A

Watch Video Solution

SnCl2 + 2FeCl3 → SnCl4 + 2FeCl2

SnCl2 FeCl3

FeCl3

SnCl2

FeCl3 SnCl2

https://dl.doubtnut.com/l/_q2APPDHK6uge
https://dl.doubtnut.com/l/_ILyJ7B8f9dYQ


45. Which of the following statements is correct regarding redox

reactions-

A. An increase in oxidation number of an element is called reduction

B. A decrease in oxidation number of an element is called oxidation.

C. A reagent which lowers the oxidation number of an element in a

given substance is reductant.

D. A reagent which increases the oxidation number of an element in a

given substance is reductant .

Answer: C

Watch Video Solution

46. In the reacion , 

3Br2 + 6CO2 −
3 + 3H2O → 5Br− + BrO−

3 + 6HCO−
3

https://dl.doubtnut.com/l/_ILyJ7B8f9dYQ
https://dl.doubtnut.com/l/_QVxtUI6mHmvx
https://dl.doubtnut.com/l/_ZpbJzs97lcWX


A. Bromine is reduced and carbonate ion is oxidised.

B. Bromine undergoes disproportionation.

C. Bromine is reduced and water is oxidised.

D. Only water is oxidised to carbonic acid.

Answer: B

Watch Video Solution

47. Given below is a redox reaction. Which of the following types the

reaction belongs to ? 

A. Combination reaction

B. Decomposition reaction

C. Metal displacement reaction

D. Non-metal displacement reaction

CuSO4 ( aq ) + Zn ( s ) → Cu ( s ) + ZnSO4 ( aq )

https://dl.doubtnut.com/l/_ZpbJzs97lcWX
https://dl.doubtnut.com/l/_tbS9T68BC62d


Answer: C

Watch Video Solution

48. Identify the oxidant and the reductant respectively in the following

reaction. 

A. Chlorine and Bromide

B. Bromide and Chlorine

C. Bromide and Bromide

D. Chlorine and Chlorine

Answer: C

Watch Video Solution

Cl2(g) + 2Br− (aq) → 2Cl− (aq) + Br2(aq)

49. Which of the following is a disproportionation reaction?

https://dl.doubtnut.com/l/_tbS9T68BC62d
https://dl.doubtnut.com/l/_NTvSfgiQ0ybd
https://dl.doubtnut.com/l/_bEhISRNWzZAW


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl2 ( g ) + 2OH −
( aq )

→ ClO−
( aq )

+ Cl−
( aq )

+ H2O ( l )

Cl2 ( g ) + 2I −
( aq )

→ 2Cl−
( aq )

+ I2 ( s )

2Fe ( s ) + 3H2O ( l )

Δ
−−→ Fe2O3 ( s ) + 3H2 ( g )

2H2O ( l ) + 2F2 ( g ) → 4HF ( aq ) + O2 ( g )

50. Which of the following is not an example of disproportionation

reaction ?

A. 

B. 

C. 

D. 

Answer: D

4ClO−
3 → Cl− + 3ClO−

4

2H2O2 → 2H2O + O2

2NO2 + 2OH − → NO−
3 + H2O

TiCl4 + 2Mg → Ti + 2MgCl2

https://dl.doubtnut.com/l/_bEhISRNWzZAW
https://dl.doubtnut.com/l/_zdRbMjwuKHf7


Watch Video Solution

51. White phosphorus reacts with caustic soda to form  and 

. This reaction is an example of

A. oxidation

B. reduction

C. disproportionation

D. displacement

Answer: C

Watch Video Solution

PH3

NaH2PO2

52. What is the oxidation number of carbon in  ( carbon suboxide ) ?

A. 

B. 

C3O2

+4/3

+10/4

https://dl.doubtnut.com/l/_zdRbMjwuKHf7
https://dl.doubtnut.com/l/_WWbd8RfGNpDt
https://dl.doubtnut.com/l/_a6zEkUjHfOFN


C. 

D. 

Answer: A

Watch Video Solution

+2

+2/3

53. In the conversion of  the oxidation state of bromine

changes from ......... to +5.

A.  to 

B. 0 to 

C.  to 

D. 0 to 

Answer: D

Watch Video Solution

Br2 → BrO− 1
3

+1 +5

−3

+2 +5

+5

https://dl.doubtnut.com/l/_a6zEkUjHfOFN
https://dl.doubtnut.com/l/_gylWCZSd2DvG
https://dl.doubtnut.com/l/_KA14qsb67MKW


54. Permanganate (VII) ion,  oxidises  ion to  and gives

manganese (IV) oxide  in basic medium. The skeletal ionic equation

is given as

 


The values of p, q, r and s are

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

MnO
−
4 I − I2

MnO2

pMnO−
4 ( aq )

+ qI −
( aq )

+ xH2O ( l ) → rMnO2 ( s ) + sI2 ( s ) + yOH −
( aq )

p q r s

1 2 8 4

p q r s

2 6 2 3

p q r s

2 4 2 8

p q r s

1 4 8 2

55. Choose correct statements (s) regarding the following reactions. 

Cr2O
2 −
7 (aq) + 3SO2 −

3 (aq) + 8H + → 2Cr3 + (aq) + 3SO2 −
4 (aq) + 4H2O

https://dl.doubtnut.com/l/_KA14qsb67MKW
https://dl.doubtnut.com/l/_EG23IkCQIArs


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Cr2O
2 −
7 ( aq )

+ 3SO2 ( g ) + 2H +
( aq )

→ 2Cr3 +
( aq )

→ 2Cr3 +
( aq )

+ 3SO2 −
4 ( aq )

2Cr2O
2 −
7 ( aq )

+ 3SO2 ( g ) + 4H +
( aq )

→ 4Cr3 +
( aq )

+ 3SO2 −
4 ( aq )

+ 2H2O ( l

Cr2O
2 −
7 ( aq )

+ 3SO2 ( g ) + 14H +
( aq )

→ 2Cr3 +
( aq )

+ 3SO2 −
4 ( aq )

+ 7H2O ( l

Cr2O
2 −
7 ( aq )

+ 6SO2 ( g ) + 7H +
( aq )

→ 2Cr3 +
( aq )

+ 6SO2 −
4 ( aq )

+ 7H2O ( l )

56. The  ion is unstable in solution and undergoes

disproportionation reaction to give , and  ion. Write a

balanced ionic equation for the reaction.

A. 

Mn3 +

Mn+ 2, MnO2 H ⊕

3Mn3 + + 4H2O → MnO2 + Mn2 + + 8H +

https://dl.doubtnut.com/l/_EG23IkCQIArs
https://dl.doubtnut.com/l/_WEPA7iWnSRCB


B. 

C. 

D. 

Answer: D

Watch Video Solution

Mn2 + + 4H2O → MnO2 + 4H +

Mn + 2H2O → MnO2 + 4H +

2Mn3 + + 2H2O → MnO2 + Mn2 + + 4H +

57. The number of moles of  reduced by  in alkaline

medium is (a)1
/
5
(b)2
(c)3
/
2
(d)4

A. 

B. 2

C. 

D. 4

Answer: B

Watch Video Solution

KMnO4 1mol ofKI

1/5

3/2

https://dl.doubtnut.com/l/_WEPA7iWnSRCB
https://dl.doubtnut.com/l/_vDHpoEGZ7HdV


58. Balance the following equation by oxidation number method: 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

K2Cr2O7 + FeSO4 + H2SO4 → Cr2(SO4)3 + Fe2(SO4) + K2SO4 + H2O

Cr2O
2 −
7 + 14H + + 6Fe2 + → 6Fe3 + + 2Cr3 + + 7H2O

2K + + Cr2O
2 −
7 + 7SO2 −

4 + 6Fe2 + → 3Fe3 + + SO
2 −
4 + Cr3 + + K

Cr2O
2 −
7 + 2K + + 7H + + 6Fe2 + → 6Fe3 + + 6Cr3 + + K +

Cr2O
2 −
7 + 7H + + 6Fe2 + → 3Fe2 + + 2Cr3 + + 2K + + 7H2O

59. Which will be the value of x, y and z in the following equaton. 

A. 

xI2 + yOH − → IO−
3 + zI + 3H2O

x y z

6 3 5

https://dl.doubtnut.com/l/_vDHpoEGZ7HdV
https://dl.doubtnut.com/l/_tfi3lRjiTGw6
https://dl.doubtnut.com/l/_0HY3DitF8nKZ


B. 

C. 

D. 

Answer: C

Watch Video Solution

x y z

3 2 3

x y z

3 6 5

x y z

3 3 3

60. The number of electrons involved in the conversion of  to 

 is

A. 3

B. 4

C. 1

D. 2

Answer: A

Watch Video Solution

MnO
−
4

MnO2

https://dl.doubtnut.com/l/_0HY3DitF8nKZ
https://dl.doubtnut.com/l/_HWPGWxJihvrK


61. The values of coefficients to balance the following reaction are 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr(OH)3 + ClO− + OH − → CrO
2 −
4 + Cl− + H2O

Cr(OH)3 ClO− CrO
2 −
4 Cl−

  2   3   3 3

Cr(OH)3 ClO− CrO
2 −
4 Cl−

  2   4   3 2

Cr(OH)3 ClO− CrO
2 −
4 Cl−

  2   4   4 2

Cr(OH)3 ClO− CrO
2 −
4 Cl−

  2   3   2 3

62. The stoichiometric constants for the reaction

 p, q, r, s and t

respectively are

A. 3, 3, 3, 2, 3

pCu + qHNO3 → rCu(NO3)2 + sNO + tH2O

https://dl.doubtnut.com/l/_HWPGWxJihvrK
https://dl.doubtnut.com/l/_6UsbNKkPynLc
https://dl.doubtnut.com/l/_Fnwzrvx4zIEo


B. 3, 2, 3, 2, 4

C. 3, 8, 3, 2, 4

D. 2, 3, 3, 3, 2

Answer: C

Watch Video Solution

63. What is the correct representation of reaction occurring when HCl is

heated with  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MnO2

MnO
−
4 + 5Cl− + 8H + → Mn2 + + 5Cl− + 5H2O

MnO2 + 2Cl− + 4H + → Mn2 + + Cl2 + 2H2O

2MnO2 + 4Cl− + 8H + → 2Mn2 + + 2Cl2 + 4H2O

MnO2 + 4HCl → MnCl4 + Cl2 + H2O

https://dl.doubtnut.com/l/_Fnwzrvx4zIEo
https://dl.doubtnut.com/l/_8LTLiU4d2ojX


64. When  is reduced with oxalic acid in acidic solution, the

oxidation number of  changes from

A.  to 

B.  to 

C.  to 

D.  to 

Answer: C

Watch Video Solution

KMnO4

Mn

+2 +7

+4 +7

+7 +2

+6 +2

65. When a manganous salt is fused with a mixture of  and solid

NaOH, the oxidation number of Mn change from +2 to:

A. 

B. 

KNO3

+4

+3

https://dl.doubtnut.com/l/_8LTLiU4d2ojX
https://dl.doubtnut.com/l/_Kgh3KWoFQDgt
https://dl.doubtnut.com/l/_QVkqsNlnDpEb


C. 

D. 

Answer: C

Watch Video Solution

+6

+7

66. For decolourisation of , the moles of  required

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1mol ofKMnO4 H2O2

1/2

3/2

5/2

7/2

https://dl.doubtnut.com/l/_QVkqsNlnDpEb
https://dl.doubtnut.com/l/_e3XiXCSBpoRC
https://dl.doubtnut.com/l/_jbKUJNuUtjDl


67. The number of moles of  reduced by  of  ions is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K2Cr2O7 1mol Sn2 +

1/3

1/6

2/3

3/4

68. Which of the following colour changes shown during redox titrations

is not correct ?

A.  oxidises the indicator diphenylamine to produce blue

colour showing end point.

B. Iodine formed by oxidation of  ions gives blue colour with starch

showing end point.

Cr2O
2 −
7

I −

https://dl.doubtnut.com/l/_jbKUJNuUtjDl
https://dl.doubtnut.com/l/_IGpoJd30MKIS


C.  in the form of  ions gives pink colour showing end

point.

D. Thiosulphate ions  give blue colour showing end point.

Answer: D

Watch Video Solution

KMnO4 MnO
−
4

(S2O
2 −
3 )

69. Which of the following acts as a self-indicator ?

A. 

B. 

C. 

D. Iodine

Answer: B

Watch Video Solution

K2Cr2O7

KMnO4

Oxalicacid

https://dl.doubtnut.com/l/_IGpoJd30MKIS
https://dl.doubtnut.com/l/_iQPRteQnaPcy
https://dl.doubtnut.com/l/_UaXzsTYeOOss


Higher Order Thinking Skills

70. Which of the following are the common oxidising agents used in

redox titrations ?

A. , Iodine

B. , Sodium thiosulphate

C. Oxalic acid, 

D. Mohr's salt, KI, Sodium sulphate

Answer: A

Watch Video Solution

K2Cr2O7, KMnO4

FeSO4, KMnO4

KMnO4, CuSO4

1. The oxidation sates of metal in the compounds  and 

 respectively are

A. 

Fe0.94O

[Cr(PPh3)3(CO)3]

, 0
200

94

https://dl.doubtnut.com/l/_UaXzsTYeOOss
https://dl.doubtnut.com/l/_tXgQmn9d1VwQ


B. 

C. 

D. 

Answer: A

Watch Video Solution

0,
94

200

2, 1

1,
200

94

2. Consider the following reaction, 

 


Select the incorrect statement.

A. It is not a disproportionation reaction.

B. It is intramolecular redox reaction.

C.  is a reducing as well as oxidising agent.

D.  is a reducing as well as oxidising agent.

CHO                  COO−

|       +OH − → |

CHO                  CH2OH

OH −

CHO

|

CHO

https://dl.doubtnut.com/l/_tXgQmn9d1VwQ
https://dl.doubtnut.com/l/_23dKiaPZ2NcJ


Answer: C

Watch Video Solution

3. Which of the following is a redox reaction ?

A. Reaction of  with NaOH

B. In atmosphere, formation of  from  by lightening

C. Formation of oxides of nitrogen from nitrogen and oxygen by

lightening

D. Evaporation of 

Answer: C

Watch Video Solution

H2SO4

O3 O2

H2O

4. Why following two reaction proceed differently? 


Pb3O4 + 8HCl → 3PbCl2 + Cl2 + 4H2O

https://dl.doubtnut.com/l/_23dKiaPZ2NcJ
https://dl.doubtnut.com/l/_RUrJ72EkAlJ0
https://dl.doubtnut.com/l/_mx3pGb7jq0sq


and 

A. three numbers of  ions get oxidised to  state

B. one number  ion gets reduced to  and two numbers of 

 ions remain unchanged in their oxidation state

C. one number  ion gets oxidised to  and two numbers of 

 ions remain unchanged in their oxidation states

D. three numbers of  ions get reduced to  state.

Answer: B

View Text Solution

Pb3O4 + 4HNO3 → 2Pb(NO3)2 + PbO2 + 2H2O

Pb2 + Pb4 +

Pb4 + Pb2 +

Pb2 +

Pb2 + Pb4 +

Pb4 +

Pb4 + Pb2 +

5. which of the following statements is not correct about the reaction

given below? 

A. Fe is oxidised from  to .

K4[Fe(CN)6]
Oxidation
−−−−−→ Fe3 + + CO2 + NO

ө

3

Fe2 + Fe3 +

https://dl.doubtnut.com/l/_mx3pGb7jq0sq
https://dl.doubtnut.com/l/_8w5X16ZcvDKp


B. Carbon is oxidised from  to .

C. N is oxidised from  to .

D. Carbon is not oxidised.

Answer: D

Watch Video Solution

C 2 + C 4 +

N 3 − N 5 +

6. One mole of  loses ten moles of electrons to form a new

compound . Assuming that all the nitrogen appears in the new

compound, what is the oxidation state of nitrogen in ? (There is no

change in the oxidation state of hydrogen.)

A. 

B. 

C. 

D. 

N2H4

A

A

−1

−3

+3

+5

https://dl.doubtnut.com/l/_8w5X16ZcvDKp
https://dl.doubtnut.com/l/_R4QPJTxPw1Gv


Answer: C

Watch Video Solution

7. Using the following Latimer diagram for bromine, 

 


the species undergoing disproportionation is

A. 

B. 

C. HBrO

D. 

Answer: C

Watch Video Solution

pH = 0, BrO−
4

1.82V
−−→ BrO−

3

1.50V
−−→ HBrO

1.595V
−−−→ Br2

1.06552V
−−−−→ Br−

BrO
−
4

BrO−
3

Br2

https://dl.doubtnut.com/l/_R4QPJTxPw1Gv
https://dl.doubtnut.com/l/_B5XvifKGfwsJ


8. For the reaction :  


The incorrect statement for the balanced equation is:

A. stoichiometric coefficient of  is 6

B. iodide is oxidized

C. sulphur is reduced

D.  is one of the products.

Answer: C

Watch Video Solution

I − + ClO−
3 + H2SO4 → Cl− + HSO

−
4 + I2

HSO
−
4

H2O

9.  ions are reduced in acidic conditions to  ions whereas

they are reduced in neutral condition to . The oxidation of 25 mL

of a solution  containing  ions required in acidic condition 20 mL

of a solution y containing  ions. What value of solution y would be

required to oxidize 25 mL of solution x containing  ions in neutral

condition ?

MnO
−
4 Mn2 +

MnO2

x Fe2 +

MnO4

Fe2 +

https://dl.doubtnut.com/l/_Koxy8kL0MmuV
https://dl.doubtnut.com/l/_TAw2eZMrEAr3


Ncert Exemplar Problems

A. 11.4 mL

B. 12.0 mL

C. 33.3 mL

D. 35.0 mL

Answer: C

Watch Video Solution

1. Which of the following is not an example of redox reaction?

A. 

B. 

C. 

D. 

CuO + H2 → Cu + H2O

Fe2O3 + 3CO → 2Fe + 3CO2

2K + F2 → 2KF

BaCl2 + H2SO4 → BaSO4 + 2HCl

https://dl.doubtnut.com/l/_TAw2eZMrEAr3
https://dl.doubtnut.com/l/_Anrm5UapnrT2


Answer: D

Watch Video Solution

2. The more positive the value of , the greater is the trendency of the

species to get reduced. Using the standard electrode potential of redox

coples given below find out which of the following is the strongest

oxidising agent. 

 values:  


, 


A. 

B. 

C. 

D. 'Ag^(+)'

Answer: D

h id l i

E θ

E θ Fe3 + /Fe2 + = + 0.77

I2(s) /I − = + 0.54

Cu2 + /Cu = + 0.34, Ag+ /Ag = 0.80V

Fe3 +

I2 ( s )

Cu2 +

https://dl.doubtnut.com/l/_Anrm5UapnrT2
https://dl.doubtnut.com/l/_3EhtOE1Dp4yV


Watch Video Solution

3.  values of some redox couples are given below. On the basis of

these values choose the correct option. 

 values:  


 


A. Cu will reduce 

B. Cu will reduce Ag

C. Cu will reduce 

D. Cu will reduce 

Answer: D

Watch Video Solution

E θ

E θ Brt2 /Br− = + 1.90

Ag+ /Ag(s) = + 0.80

Cu2 + /Cu(s) = + 0.34, I2(s) /I − = + 0.54

Br−

I −

Br2

https://dl.doubtnut.com/l/_3EhtOE1Dp4yV
https://dl.doubtnut.com/l/_fsDmziW0mo0H


4. Using the standard electrode potential, find out the pair between

which redox reaction is not feasible.  values : 

 


A.  and 

B.  and Cu

C.  and Cu

D. Ag and 

Answer: D

Watch Video Solution

E ∘

Fe3 + /Fe2 + = + 0.77, I2 /I − = + 0.54V

Cu2 + /Cu = + 0.34V , Ag+ /Ag = + 0.80V

Fe3 + I −

Ag+

Fe3 +

Fe3 +

5. Thiosulphate reacts differently with iodine and bromine in the

reactions given below : 

 

 


S2O
2 −
3 + I2 → S4O

2 −
6 + 2I −

S2O
2 −
3 + 2Br2 + 5H2O → 2SO2 −

4 + 2Br− + 10H +

https://dl.doubtnut.com/l/_esxVWLzbPlaq
https://dl.doubtnut.com/l/_xTVKHaWPBvJw


Which of the following statements justifies the above dual behaviour of

thiosulphate ?

A. Bromine is a stronger oxidant than iodine.

B. Bromine is a weaker oxidant than iodine.

C. Thiosulphate undergoes oxidation by bromine and reduction by

iodine in these reactions.

D. Bromine undergoes oxidation and iodine undergoes reduction in

these reactions.

Answer: A

Watch Video Solution

6. The oxidation number of an element in a compound is evaluated on the

basis of certain rules. Which of the following rules is not correct in this

respect ?

A. The oxidation number of hydrogen is always +1.

https://dl.doubtnut.com/l/_xTVKHaWPBvJw
https://dl.doubtnut.com/l/_0qiDc4UtikV8


B. The algebraic sum of all the oxidation numbers in a compound is

zero.

C. An element in the free or the uncombined state bears oxidation

number zero.

D. In all its compounds, the oxidation number of fluorine is -1.

Answer: A

Watch Video Solution

7. In which of the following compounds, an elements exhibits two

different oxidation states?

A. 

B. 

C. 

D. 

NH2OH

NH4NO3

N2H4

N3H

https://dl.doubtnut.com/l/_0qiDc4UtikV8
https://dl.doubtnut.com/l/_WhzTUHeu7pyI


Answer: B

Watch Video Solution

8. Which of the following arrangements represent increaseing oxidation

number of the central atom?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CrO−
2 , ClO−

3 , CrO2 −
4 , MnO

−
4

ClO−
3 , CrO2 −

4 , MnO
−
4 , CrO−

2

CrO−
2 , ClO−

3 , MNO
−
4 , CrO2 −

4

CrO
2 −
4 , MnO

−
4 , CrO−

2 , ClO−
3

9. The largest oxidation number exhibited by an element depends on its

outer eletronic configuration. With which of the following outer

https://dl.doubtnut.com/l/_WhzTUHeu7pyI
https://dl.doubtnut.com/l/_t7hOsucrOgiY
https://dl.doubtnut.com/l/_OtWB6OKTegx2


electronic configurations the element will exhibit largest oxidation

number ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3d14s2

3d34s2

3d54s1

3d54s2

10. Identify the disproportionation reaction.

A. 

B. 

C. 

D. 

CH4 + 2O2 → CO2 + 2H2O

CH4 + 4Cl2 → CCl4 + 4HCl

2F2 + 2OH − → 2F − + OF2 + H2O

2NO2 + 2OH − → NO−
2 + NO3 + H2O

https://dl.doubtnut.com/l/_OtWB6OKTegx2
https://dl.doubtnut.com/l/_TPctFWxvtHYO


Assertion Reason

Answer: D

Watch Video Solution

11. Which of the following elements does not show disproportionation

tendency?

A. Cl

B. Br

C. F

D. I

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TPctFWxvtHYO
https://dl.doubtnut.com/l/_MKJs4o2dX1Ou


1. Assertion : Conversion of potassium ferrocyanide to potassium

ferricyanide is an oxidation process. 

Reason : Oxidation is the addition of oxygen/electronegative element to a

substance or removal of hydrogen/electropositive element from a

substance.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_YhiP0sJYR5MC


2. Justify that the reaction 

 a redox reaction. Identify the

species oxidised reduced. Which acts as an oxidanat and which acts as a

reductant?

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

Watch Video Solution

2Cu2Os + Cu2S(s) → 6Cu(s) + SO2(g)

/

https://dl.doubtnut.com/l/_GrwHjqmp6v59


3. Assertion :  can act both as a reducing agent and an oxidising

agent. 

Reason : In , oxidation state of nitrogen is +3 which can change

from -3 to +5.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

HNO2

HNO2

https://dl.doubtnut.com/l/_rDEzuRa5NHyN


4. Assertion : Decomposition of potassium chlorate is an example of

redox reaction . 

Reason : There is no change in the oxidation number of potassium in

decomposition of potassium chlorate.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_yGLFSXIRKa4b


5. Assertion : Displacement reactions of chlorine, bromine and iodine

using fluorine are not generally carried out in aqueous solution. 

Reason : Fluorine being highly reactive attacks water and displaces the

oxygen of water.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SsDYeFfODxsj


6. Assertion : Decomposition of hydrogen peroxide is an example of

disproportionation reaction. 

Reason : In a disproportionation reaction, an element in one oxidation

state is simultaneously oxidised and reduced .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ji4cNLtf1Bsu


7. Assertion :  does not show disproportionation reaction. 


Reason : In  , chlorine is present in its highest oxidation state .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

CO
−
4

ClO
−
4

8. Assertion : All halogens undergo disproportionation reaction in

alkaline medium. 

Reason : All halogens exhibit variable oxidation states.

https://dl.doubtnut.com/l/_7cYLAQa1hHCt
https://dl.doubtnut.com/l/_zoMHHarCGGVm


A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

Watch Video Solution

9. Assertion : The only way to get  form  is to oxidise electrolytically.

Reason : The recovery of halogens from their halides requires an

oxidation process.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

F2 F −

https://dl.doubtnut.com/l/_zoMHHarCGGVm
https://dl.doubtnut.com/l/_VjtPg13MCSEA


B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

10. Assertion: Oxygen atom in both  and  has oxidation number

zero. 

Reason: In , oxidation number of  is .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

O2 O3

F2O O +2

https://dl.doubtnut.com/l/_VjtPg13MCSEA
https://dl.doubtnut.com/l/_Oqm3DjKGfM33


D. If both assertion and reason are false.

Answer: D

Watch Video Solution

11. Assertion : In the species,  each of the two extreme sulphurs

exhibits oxidation state of +5 and the two middle sulphurs as zero. 

Reason : The average of four oxidation numbers of sulphurs of the

 is 2.5.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

S4O
2 −
6

S4O
2 −
6

https://dl.doubtnut.com/l/_Oqm3DjKGfM33
https://dl.doubtnut.com/l/_YvLFemDXfH0H


Answer: B

Watch Video Solution

12. Assertion : In titrations involving potassium permanganate no

indicator is used. 

Reason :  acts as the self-indicator.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

MnO
−
4

https://dl.doubtnut.com/l/_YvLFemDXfH0H
https://dl.doubtnut.com/l/_sRz9bmcNvWYV


13. Assertion : The transfer of electrons from zinc to copper takes place

through metal wire connecting the two rods. 

Reason : Electricity from solution in one beaker to other flows by

migration of ions through the salt bridge.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0cTMA4WKCdTg


14. Assertion : Insert electrolytes like KCl,  are used in salt bridge. 


Reason : Salt bridge provides an electric contact between the two

solutions without allowing them to mix with each other.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

KNO3

15. Assertion : A metal having negative reduction potential when dipped

in the solution of its own ions has a tendency to pass into solution . 

https://dl.doubtnut.com/l/_tWeKC1CNnIyx
https://dl.doubtnut.com/l/_XGCsJEsWuiYx


Redox Reactions In Terms Of Electron Transfer Reactions

Reason : Metals undergo reduction .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

1. Which of the following statements is not true?

https://dl.doubtnut.com/l/_XGCsJEsWuiYx
https://dl.doubtnut.com/l/_fjh5WDQE00KD


A. In a chemical reaction, oxidation is always accompanied by

reduction.

B. When a negative ion changes to neutral species, the process is

oxidation,

C. Oxidising agent has a tendency to lose electrons.

D. Conversion of  to  is oxidation.

Answer: C

Watch Video Solution

MnO
2 −
4 MnO

−
4

2. Which of the following is not a redox reaction ?

A. 

B. 

C. 

D. 

CuO + H2 → Cu + H2O

Na + H2O → NaOH + H2

1

2

CaCO3 → CaO + CO2

2K + F2 → 2KF

https://dl.doubtnut.com/l/_fjh5WDQE00KD
https://dl.doubtnut.com/l/_VyzdzMDZtD1A


Answer: C

Watch Video Solution

3. Which substance is serving as a reducing agent in the following

reaction? 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

14H + + Cr2O
2 −
7 + 3Ni → 2Cr3 + + 7H2O + 3Ni2 +

Cr2O
2 −
7

Ni

H +

H2O

https://dl.doubtnut.com/l/_VyzdzMDZtD1A
https://dl.doubtnut.com/l/_JCtOB3LzKwbB


4. A redox reaction is shown in the diagrams. Identify the reaction. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Zn ( s ) + Cu
2 +
( aq )

→ Zn
2 +
( aq )

+ Cu ( s )

Cu ( s ) + 2Ag ( aq ) → Cu
2 +
( aq )

+ 2Ag ( s )

2Ag ( s ) + Cu
2 +
( aq )

→ 2Ag+
( aq )

+ Cu ( s )

2Cu ( s ) + Zn
2 +
( aq )

→ Cu
2 +
( aq )

+ Zn ( s )

5. Identify the redox reaction taking palce in a beaker. 

https://dl.doubtnut.com/l/_kvPNWl3s6wly
https://dl.doubtnut.com/l/_MHnz6Sbif2Co


Oxidation Number

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Zn ( s ) + Cu2 +
( aq )

→ Zn2 +
( aq )

+ Cu ( s )

Cu ( s ) + 2Ag ( aq ) → Cu2 +
( aq )

+ 2Ag ( s )

Cu ( s ) + Zn2 +
( aq )

→ Zn ( s ) + Cu2 +
( aq )

2Ag ( s ) + Cu2 +
( aq )

→ 2Ag+
( aq )

+ Cu ( s )

1. Which of the following is not a rule for calculating oxidation number ?

A. For ions, oxidation number is equal to the charge on the ion.

B. The oxidation number of oxygen is -2 in all of its compounds.

C. The oxidation number of fluorine is -1 in all of its compounds.

https://dl.doubtnut.com/l/_MHnz6Sbif2Co
https://dl.doubtnut.com/l/_bwDRQUoUQ3jd


D. Oxidation number of hydrogen is +1 except in binary hydrides of

alkali metals and alkaline earth metals where it is -1.

Answer: B

Watch Video Solution

2. The oxidation number of carbon in  is

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH2Cl2

+1

+2

+4

https://dl.doubtnut.com/l/_bwDRQUoUQ3jd
https://dl.doubtnut.com/l/_mECj0pENZqRW


3. Oxidation state of iron in  is

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

Fe(CO)4

+1

−1

+2

4. The oxidation states of sulphur in the anions ,

and  follow the order

A. 

B. 

C. 

D. 

SO2 −
3 , S2O

2 −
4 , SO2 −

4

S2O
2 −
6

S2O
2 −
4 > S2O

2 −
6 > SO

2 −
4 > SO2 −

3

S2O
2 −
6 > SO2 −

3 > S2O
2 −
4 > SO

2 −
4

SO
2 −
4 > S2O

2 −
6 > SO2 −

3 > S2O
2 −
4

SO2 −
3 > SO

2 −
4 > S2O

2 −
4 > S2O

2 −
6

https://dl.doubtnut.com/l/_tOK3C1vbWoWd
https://dl.doubtnut.com/l/_0SjkclyzbqBv


Answer: C

Watch Video Solution

5. Oxidation numbers of Mn in its compounds

 and  respectively are:-

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MnCl2, Mn(OH)3, MnO2 KMnO4

+2, + 4, + 7, + 3

+2, + 3, + 4, + 7

+7, + 3, + 2, + 4

+7, + 4, + 3, + 2

6. Arrange the oxides of nitrogen in increasing order of oxidation state of

N from +1 to +5.

https://dl.doubtnut.com/l/_0SjkclyzbqBv
https://dl.doubtnut.com/l/_Qa7sl2CbkBkp
https://dl.doubtnut.com/l/_zaGVa9G6G4eA


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2O < N2O3 < NO2 < N2O5 < NO

N2O < NO < N2O3 < NO2 < N2O5

N2O5 < NO2 < N2O3 < NO < N2O

NO < N2O < NO2 < N2O3 < N2O5

7. The oxidation state of  in  is

A. 

B. 

C. 

D. 0

Answer: A

Watch Video Solution

S H2S2O8

+6

+7

+8

https://dl.doubtnut.com/l/_zaGVa9G6G4eA
https://dl.doubtnut.com/l/_RaXvU66FCPLE


8. Match the compounds given in column I with oxidation states of

carbon given in column II and mark the appropriate choice. 

A. (A)  (iv), (B)  (iii), (C)  (ii), (D)  (i)

B. (A)  (i), (B)  (ii), (C)  (iii), (D)  (iv)

C. (A)  (ii), (B)  (iii), (C)  (iv), (D)  (i)

D. (A)  (iii), (B)  (ii), (C)  (i), (D)  (iv)

Answer: A

Watch Video Solution

Column I Column II

(A) C6H12O6  (i)   +3

(B) CHCl3  (ii)   -3

(C) CH3CH3  (iii)   +2

(D) (COOH)
2

 (iv)   0

→ → → →

→ → → →

→ → → →

→ → → →

9. Among the following identify the species with an atom in  oxidation

state.

+6

https://dl.doubtnut.com/l/_RaXvU66FCPLE
https://dl.doubtnut.com/l/_EmJ2vP4ApTER
https://dl.doubtnut.com/l/_YNiMyE8RGazn


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

MnO
−
4

Cr(CN)3 −
6

NiF 2 −
6

CrO2Cl2

10. The pair of the compounds in which both the metals are in the

highest possible oxidation state is,

A. 

B. 

C. 

D. 

Answer: B

MnO2, FeCl3

MnO
−
4 , CrO2Cl2

MnCl2, CrCl3

[NiCl4]2 − , [CoCl4] −

https://dl.doubtnut.com/l/_YNiMyE8RGazn
https://dl.doubtnut.com/l/_ebpwSBbNZjlf


Watch Video Solution

11. An element that never has a positive oxidation state in any of its

compounds is

A. O

B. N

C. Cl

D. F

Answer: D

Watch Video Solution

12. Oxidation number if iodine in  respectively are

A. 

B. 

IO−
3 , IO−

4 , KI and I2

−2, − 5, − 1, 0

+5, + 7, − 1, 0

https://dl.doubtnut.com/l/_ebpwSBbNZjlf
https://dl.doubtnut.com/l/_MfehlhmMfrJo
https://dl.doubtnut.com/l/_jgJdaL4JOFoI


C. 

D. 

Answer: B

Watch Video Solution

+2, + 5, + 1, 0

−1, + 1, 0, + 1

13. Various oxidation states of few elements are mentioned. Which of the

options is not correctly matched ?

A. a. Phosphorus: +3 to +5

B. b. Nitrogen : +1 to +5

C. c. Iodine : -1 to +7

D. d. Chromium : +3 to +6

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_jgJdaL4JOFoI
https://dl.doubtnut.com/l/_cseLv9Iiyvks
https://dl.doubtnut.com/l/_ukZJcjk1jM0l


14. Carbon is in the lowest oxidation state in

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH4

CCl4

CF4

CO2

15. Which of the following is a decreasing order of oxidation states of the

central atoms?

A. (A) 

B. (B) 

C. (C) 

D. (D) 

PCl5, HIO4, Cl2O
2 −
7 , Cl2O

Cr2O
2 −
7 , Cl2O, HIO4, PCl5

HIO4, Cr2O
2 −
7 , PCl5, Cl2O

Cr2O
2 −
7 , HIO4, Cl2O, PCl5

https://dl.doubtnut.com/l/_ukZJcjk1jM0l
https://dl.doubtnut.com/l/_R3avWaCa1sn0


Answer: C

Watch Video Solution

16. Which compound amongst the following gas the highest oxidation

number of Mn? 

A. (A) 

B. (B) 

C. (C) 

D. (D) 

Answer: A

Watch Video Solution

KMnO4, K2MnO2, MnO2 and Mn2O3

KMnO4

K2MnO4

MnO2

Mn2O3

https://dl.doubtnut.com/l/_R3avWaCa1sn0
https://dl.doubtnut.com/l/_HpSxKElgoCij


17. In which of the following compounds oxidation state of chlorine has

two different values?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CaCl2

NaCl

CaOCl2

CCl4

18. The oxidation number of nitrogen in  is

A. 

B. 

C. 

D. 

(N2H5) +

−2

+2

+3

−3

https://dl.doubtnut.com/l/_bVBbfmYcd5zC
https://dl.doubtnut.com/l/_Nt8FwQg3PFh8


Answer: A

Watch Video Solution

19. Mark the correct statement from the following :

A. Copper metal can be oxidised by  ions.

B. Oxidation number of phosphorus in  is 4

C. An element in the highest oxidation state acts only as a reducing

agent.

D. The element which shows highest oxidation number of +8 is Os in

Answer: D

Watch Video Solution

Zn2 +

P4

OsO4

https://dl.doubtnut.com/l/_Nt8FwQg3PFh8
https://dl.doubtnut.com/l/_pWytnNkC5sCP


20. Which compound among the following has lowest oxidation number

of chlorine ?

A. 

B. 

C. HCl

D. HOCl

Answer: C

Watch Video Solution

ClF3

HClO3

21. Which of the following oxidation numbers is not correctly matched ?

A. Cl in 

B. Ni in 

C. P in 

D. Cr in 

HClO4

[Ni(CN)6]
4 −

= + 2

Mg2P2O7 = + 6

(NH4)2Cr2O7 = + 6

https://dl.doubtnut.com/l/_MK8zKw63spo8
https://dl.doubtnut.com/l/_rTjimjAk5CMn


Answer: C

Watch Video Solution

22. Examples of few compounds in a particular oxidation state are given.

Mark the example which is not correct.

A. P in 

B. Chlorine in +7 oxidation state 

C. Chromium in +6 oxidation state 

D. Carbon in 0 oxidation state 

Answer: B

Watch Video Solution

H2PO2 = + 1

−HClO

−CrO2Cl2

−C12H22O11

23. The oxidation numbers of the sulphur atoms in pcroxy-

monosulphuric acid  and peroxydisulphuric acid  are(H2SO5) (H2S2O8)

https://dl.doubtnut.com/l/_rTjimjAk5CMn
https://dl.doubtnut.com/l/_EiPisQbcDc10
https://dl.doubtnut.com/l/_Tqs4pCW3uDxD


respectively.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+8, + 7

+3, + 3

+6, + 6

+4, + 6

24. Which is not true about the oxidation state of the following elements

?

A. Sulphur +6 to -2

B. Carbon +4 to -4

C. Chlorine +7 to -1

D. Nitrogen +3 to -1

https://dl.doubtnut.com/l/_Tqs4pCW3uDxD
https://dl.doubtnut.com/l/_Ecfzqr7VF60o


Answer: D

Watch Video Solution

25. O.N. (Oxidation Number) of Fe in  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K4[Fe(CN)6]

+2

+3

+4

+6

26. Arrange the following in increasing order of oxidation state of Ni. 

K2[Ni(CN)4], K2[NiF6], Ni(CO)4

https://dl.doubtnut.com/l/_Ecfzqr7VF60o
https://dl.doubtnut.com/l/_YrJiDEop6sb1
https://dl.doubtnut.com/l/_pGsn2hSQSfCz


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ni(CO)4, K2[Ni(CN)4], K2[NiF6]

K2[Ni(CN)4], Ni(CO)4, K2[NiF6]

Ni(CO)4, K2[NiF6], K2[Ni(CN)4]

K2[NiF6], K2[Ni(CN)4], Ni(CO)4

27. The correct sequence of the oxidation state of underlined elements is 

A. 

B. 

C. 

D. 

Answer: A

Na2[Fe–––(CN)5NO], K2Ta–––F7, Mg2P–– 2O7, Na2S––4O6, N––3H

+3, + 5, + 5, + 2.5, −
1

3

+5, + 3, + 5, + 3, +
1

3

+3, + 3, + 5, + 5, −
1

3

+5, + 5, + 3, + 2.5, +
1

3

https://dl.doubtnut.com/l/_pGsn2hSQSfCz
https://dl.doubtnut.com/l/_1pKEOCwmjBAm


Watch Video Solution

28. What are the oxidation states of phosphorus in the following

compounds ? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H3PO2, H3PO4, Mg2P2O7, PH3, HPO3

+1, + 3, + 3, + 3, + 5

+3, + 3, + 5, + 5, + 5

+1, + 2, + 3, + 5, + 5

+1, + 5, + 5, − 3, + 5

29. In which of the following compounds carbon is in highest oxidation

state ?

https://dl.doubtnut.com/l/_1pKEOCwmjBAm
https://dl.doubtnut.com/l/_08I6gNyG78TY
https://dl.doubtnut.com/l/_u6k1gDUS1gG8


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3Cl

CCl4

CHCl3

CH2Cl2

30. The oxidising state of molybdenum in its oxo complex species 

 is

A. 

B. 

C. 

D. 

Answer: B

[Mo2O4(C2H4)2(H2O)]
2 −

+2

+3

+4

+5

https://dl.doubtnut.com/l/_u6k1gDUS1gG8
https://dl.doubtnut.com/l/_SKAQY86JvW6H


Watch Video Solution

31. Oxidation number of  in  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P Ba(H2PO2)2

+3

+2

+1

−1

32. Which of the following can act as oxidising as well as reducing agent?

A. 

B. 

C. 

H2O2

SO3

H2SO4

https://dl.doubtnut.com/l/_SKAQY86JvW6H
https://dl.doubtnut.com/l/_ohsxCKLWa2SD
https://dl.doubtnut.com/l/_4fJ7OigjQCv9


D. 

Answer: A

Watch Video Solution

HNO3

33. When a piece of sodium metal is dropped in water, hydrogen gas

evolved because

A. sodium is reduced and acts as an oxidising agent

B. water is oxidised and act as a reducing agent

C. sodium loses electrons and is oxidised while water is reduced

D. water loses electrons and is oxidised to hydrogen.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4fJ7OigjQCv9
https://dl.doubtnut.com/l/_9ZRLWaEydKVP


34. In the reaction, 

. 

A.  is reducing agent.

B.  is oxidising agent and  is reducing agent

C.  is oxidising agent.

D.  is reducing agent and  is oxidising agent.

Answer: B

Watch Video Solution

I2 + 2S2O
2 −
3 → 2I − + S4O

2 −
6

I2

I2 S2O
2 −
3

S2O
2 −
3

I2 S2O
2 −
3

35. In the reaction  :-

A. Chlorine is oxidised

B. Chlorine is reduced.

C. Chlorine is oxidised as well as reduced.

D. Chlorine is neither oxidised nor reduced.

:Cl2 + OH − → Cl− + ClO
−
4 + H2O

https://dl.doubtnut.com/l/_f66EdJ02tDOD
https://dl.doubtnut.com/l/_jhWOXzZDM9aQ


Answer: C

Watch Video Solution

36. Consider the following reaction :

Which of the following statements regarding oxidation and reduction is

correct?

A. HCHO is oxidised to  and  is reduced to Ag.

B. HCHO is reduced to  and  is oxidised to

Ag.

C.  is reduced to Ag while  is oxidised to 

D.  is oxidised to  while HCHO is reduced to .

Answer: A

Watch Video Solution

HCHO + 2[Ag(NH3)2]
+

+ 3OH − → 2Ag + HCOO− + 4NH3 + 2H2O

HCOO− [Ag(NH3)2]
+

ddHCOO− [Ag(NH3)2]
+

[Ag(NH3)2]
+

OH −

HCOO−

[Ag(NH3)2]
+

NH3 H2O

https://dl.doubtnut.com/l/_jhWOXzZDM9aQ
https://dl.doubtnut.com/l/_zdgwYuFPLAAd


37. Identify the compounds which are reduced and oxidised in the

following reaction: 

A.  is oxidised and  is reduced.

B.  is oxidised and  is reduced.

C.  is both reduced and oxidised.

D. This is not a redox reaction.

Answer: A

Watch Video Solution

3N2H4 + 2BrO−
3 → 3N2 + 2Br− + 6H2O

N2H4 BrO−
3

BrO−
3 N2H3

BrO−
3

38. Identify the oxidant and reductant in the following redox reaction: 

A. Oxidation of potassium manganate is taking place.

2K2MnO4 + CI2 → 2KCI + 2KMnO4

https://dl.doubtnut.com/l/_zdgwYuFPLAAd
https://dl.doubtnut.com/l/_yociVDNziJVd
https://dl.doubtnut.com/l/_4Dcig5f3hRWY


B. Reduction of potassium manganate is taking place.

C. Oxidation of  is taking place.

D.  acts as reducing agent in the reaction.

Answer: A

Watch Video Solution

Cl2

Cl2

39. Indicate whether the following conversions represent an oxidation, a

reduction or none (neither oxidation nor reduction). 

(i)  to  (ii)  to  


(iii)  to  (iv)  to  


(v)  to 

A. 

B. 

C. 

D. 

HClO3 HClO4   NH
+

4 NH3

NO2 N2O4   HSO−
3 SO

2 −
4

H2O2 H2O

   (i)   (ii) (iii) (iv)    (v)

Oxidation Reduction None None Oxidation

   (i)  (ii) (iii)   (iv)    (v)

Oxidation None None Oxidation Reduction

   (i)  (ii) (iii)   (iv)    (v)

Reduction Oxidation Reduction None Reduction

   (i)  (ii) (iii)   (iv)    (v)

Oxidation Reduction None Reduction Reduction

https://dl.doubtnut.com/l/_4Dcig5f3hRWY
https://dl.doubtnut.com/l/_PCDNBKswfakU


Answer: B

Watch Video Solution

40. In which of the following reactions, the underlined substance has

been reduced ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu–––– + CuO → CO2 + Cu

CuO––––– + 2HCl → CuCl2 + H2O

4H––––2
–
O–– + 3F → 4H2 + Fe3O4

C–– + 4HNO3 → CO2 + 2H2O + 4NO2

41. A compound contains atoms X,Y and Z. the oxidation number of X is

, of Y is  and of Z is . The possible formula of the compound is+2 +5 −2

https://dl.doubtnut.com/l/_PCDNBKswfakU
https://dl.doubtnut.com/l/_mvc1VLtq88ni
https://dl.doubtnut.com/l/_q2APPDHK6uge


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XYZ2

Y2(XZ3)2

X3(Y Z4)2

X3(Y4Z)2

42. Consider the following reactions, 

(I) 

A.  is oxidised and  acts as oxidising agent.

B.  is oxidised and acts as oxidising agent.

C.  is reduced and acts as oxidising agent.

D.  is oxidised and  acts as a oxidising agent.

Answer: A

SnCl2 + 2FeCl3 → SnCl4 + 2FeCl2

SnCl2 FeCl3

FeCl3

SnCl2

FeCl3 SnCl2

https://dl.doubtnut.com/l/_q2APPDHK6uge
https://dl.doubtnut.com/l/_ILyJ7B8f9dYQ


Watch Video Solution

43. Which of the following statements is correct regarding redox

reactions-

A. An increase in oxidation number of an element is called reduction

B. A decrease in oxidation number of an element is called oxidation.

C. A reagent which lowers the oxidation number of an element in a

given substance is reductant.

D. A reagent which increases the oxidation number of an element in a

given substance is reductant .

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ILyJ7B8f9dYQ
https://dl.doubtnut.com/l/_QVxtUI6mHmvx


44. In the reacion , 

A. Bromine is reduced and carbonate ion is oxidised.

B. Bromine undergoes disproportionation.

C. Bromine is reduced and water is oxidised.

D. Only water is oxidised to carbonic acid.

Answer: B

Watch Video Solution

3Br2 + 6CO2 −
3 + 3H2O → 5Br− + BrO−

3 + 6HCO−
3

45. Given below is a redox reaction. Which of the following types the

reaction belongs to ? 

A. Combination reaction

B. Decomposition reaction

CuSO4 ( aq ) + Zn ( s ) → Cu ( s ) + ZnSO4 ( aq )

https://dl.doubtnut.com/l/_ZpbJzs97lcWX
https://dl.doubtnut.com/l/_tbS9T68BC62d


C. Metal displacement reaction

D. Non-metal displacement reaction

Answer: C

Watch Video Solution

46. Identify the oxidant and the reductant respectively in the following

reaction. 

A. Chlorine and Bromide

B. Bromide and Chlorine

C. Bromide and Bromide

D. Chlorine and Chlorine

Answer: C

Watch Video Solution

Cl2(g) + 2Br− (aq) → 2Cl− (aq) + Br2(aq)

https://dl.doubtnut.com/l/_tbS9T68BC62d
https://dl.doubtnut.com/l/_NTvSfgiQ0ybd


47. Which of the following is a disproportionation reaction?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl2 ( g ) + 2OH −
( aq )

→ ClO−
( aq )

+ Cl−
( aq )

+ H2O ( l )

Cl2 ( g ) + 2I −
( aq )

→ 2Cl−
( aq )

+ I2 ( s )

2Fe ( s ) + 3H2O ( l )

Δ
−−→ Fe2O3 ( s ) + 3H2 ( g )

2H2O ( l ) + 2F2 ( g ) → 4HF ( aq ) + O2 ( g )

48. Match the column I with column II with the type of reaction and mark

the appropriate choice. 

https://dl.doubtnut.com/l/_NTvSfgiQ0ybd
https://dl.doubtnut.com/l/_bEhISRNWzZAW
https://dl.doubtnut.com/l/_2mOzfouMB5Cz


A. (A)  (i), (B)  (iii), (C)  (ii), (D)  (iv)

B. (A)  (iv), (B)  (iii), (C)  (ii), (D)  (i)

C. (A)  (ii), (B)  (i), (C)  (iii), (D)  (iv)

D. (A)  (iii), (B)  (i), (C)  (iv), (D)  (ii)

Answer: D

Watch Video Solution

→ → → →

→ → → →

→ → → →

→ → → →

49. Which of the following is not an example of disproportionation

reaction ?

https://dl.doubtnut.com/l/_2mOzfouMB5Cz
https://dl.doubtnut.com/l/_zdRbMjwuKHf7


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4ClO−
3 → Cl− + 3ClO−

4

2H2O2 → 2H2O + O2

2NO2 + 2OH − → NO−
3 + H2O

TiCl4 + 2Mg → Ti + 2MgCl2

50. White phosphorus reacts with caustic soda to form  and 

. This reaction is an example of

A. oxidation

B. reduction

C. disproportionation

D. displacement

Answer: C

PH3

NaH2PO2

https://dl.doubtnut.com/l/_zdRbMjwuKHf7
https://dl.doubtnut.com/l/_WWbd8RfGNpDt


Watch Video Solution

51. What is the oxidation number of carbon in  ( carbon suboxide ) ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C3O2

+4/3

+10/4

+2

+2/3

52. The oxidation number of Cr in  which has the following

structure is 

CrO(5)

https://dl.doubtnut.com/l/_WWbd8RfGNpDt
https://dl.doubtnut.com/l/_a6zEkUjHfOFN
https://dl.doubtnut.com/l/_9hXUvNgENQoz


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+4

+5

+6

+10

https://dl.doubtnut.com/l/_9hXUvNgENQoz


53. In the conversion of  the oxidation state of bromine

changes from ......... to +5.

A.  to 

B. 0 to 

C.  to 

D. 0 to 

Answer: D

Watch Video Solution

Br2 → BrO− 1
3

+1 +5

−3

+2 +5

+5

54. Permanganate (VII) ion,  oxidises  ion to  and gives

manganese (IV) oxide  in basic medium. The skeletal ionic equation

is given as

 


The values of p, q, r and s are

MnO
−
4 I − I2

MnO2

pMnO−
4 ( aq )

+ qI −
( aq )

+ xH2O ( l ) → rMnO2 ( s ) + sI2 ( s ) + yOH −
( aq )

https://dl.doubtnut.com/l/_gylWCZSd2DvG
https://dl.doubtnut.com/l/_KA14qsb67MKW


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

p q r s

1 2 8 4

p q r s

2 6 2 3

p q r s

2 4 2 8

p q r s

1 4 8 2

55. Choose correct statements (s) regarding the following reactions. 

A. 

B. 

Cr2O
2 −
7 (aq) + 3SO2 −

3 (aq) + 8H + → 2Cr3 + (aq) + 3SO2 −
4 (aq) + 4H2O

Cr2O
2 −
7 ( aq )

+ 3SO2 ( g ) + 2H +
( aq )

→ 2Cr3 +
( aq )

→ 2Cr3 +
( aq )

+ 3SO2 −
4 ( aq )

2Cr2O
2 −
7 ( aq )

+ 3SO2 ( g ) + 4H +
( aq )

→ 4Cr3 +
( aq )

+ 3SO2 −
4 ( aq )

+ 2H2O ( l

https://dl.doubtnut.com/l/_KA14qsb67MKW
https://dl.doubtnut.com/l/_EG23IkCQIArs


C. 

D. 

Answer: A

View Text Solution

Cr2O
2 −
7 ( aq )

+ 3SO2 ( g ) + 14H +
( aq )

→ 2Cr3 +
( aq )

+ 3SO2 −
4 ( aq )

+ 7H2O ( l

Cr2O
2 −
7 ( aq )

+ 6SO2 ( g ) + 7H +
( aq )

→ 2Cr3 +
( aq )

+ 6SO2 −
4 ( aq )

+ 7H2O ( l )

56. The  ion is unstable in solution and undergoes

disproportionation reaction to give , and  ion. Write a

balanced ionic equation for the reaction.

A. 

B. 

C. 

D. 

Mn3 +

Mn+ 2, MnO2 H ⊕

3Mn3 + + 4H2O → MnO2 + Mn2 + + 8H +

Mn2 + + 4H2O → MnO2 + 4H +

Mn + 2H2O → MnO2 + 4H +

2Mn3 + + 2H2O → MnO2 + Mn2 + + 4H +

https://dl.doubtnut.com/l/_EG23IkCQIArs
https://dl.doubtnut.com/l/_WEPA7iWnSRCB


Answer: D

Watch Video Solution

57. The number of moles of  reduced by  in alkaline

medium is (a)1
/
5
(b)2
(c)3
/
2
(d)4

A. 

B. 2

C. 

D. 4

Answer: B

Watch Video Solution

KMnO4 1mol ofKI

1/5

3/2

58. Balance the following equation by oxidation number method: 

K2Cr2O7 + FeSO4 + H2SO4 → Cr2(SO4)3 + Fe2(SO4) + K2SO4 + H2O

https://dl.doubtnut.com/l/_WEPA7iWnSRCB
https://dl.doubtnut.com/l/_vDHpoEGZ7HdV
https://dl.doubtnut.com/l/_tfi3lRjiTGw6


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Cr2O
2 −
7 + 14H + + 6Fe2 + → 6Fe3 + + 2Cr3 + + 7H2O

2K + + Cr2O
2 −
7 + 7SO2 −

4 + 6Fe2 + → 3Fe3 + + SO
2 −
4 + Cr3 + + K

Cr2O
2 −
7 + 2K + + 7H + + 6Fe2 + → 6Fe3 + + 6Cr3 + + K +

Cr2O
2 −
7 + 7H + + 6Fe2 + → 3Fe2 + + 2Cr3 + + 2K + + 7H2O

59. Which will be the value of x, y and z in the following equaton. 

A. 

B. 

C. 

D. 

xI2 + yOH − → IO−
3 + zI + 3H2O

x y z

6 3 5

x y z

3 2 3

x y z

3 6 5

x y z

3 3 3

https://dl.doubtnut.com/l/_tfi3lRjiTGw6
https://dl.doubtnut.com/l/_0HY3DitF8nKZ


Answer: C

Watch Video Solution

60. The number of electrons involved in the conversion of  to 

 is

A. 3

B. 4

C. 1

D. 2

Answer: A

Watch Video Solution

MnO
−
4

MnO2

61. The values of coefficients to balance the following reaction are 

Cr(OH)3 + ClO− + OH − → CrO
2 −
4 + Cl− + H2O

https://dl.doubtnut.com/l/_0HY3DitF8nKZ
https://dl.doubtnut.com/l/_HWPGWxJihvrK
https://dl.doubtnut.com/l/_6UsbNKkPynLc


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr(OH)3 ClO− CrO
2 −
4 Cl−

  2   3   3 3

Cr(OH)3 ClO− CrO
2 −
4 Cl−

  2   4   3 2

Cr(OH)3 ClO− CrO
2 −
4 Cl−

  2   4   4 2

Cr(OH)3 ClO− CrO
2 −
4 Cl−

  2   3   2 3

62. The stoichiometric constants for the reaction

 p, q, r, s and t

respectively are

A. 3, 3, 3, 2, 3

B. 3, 2, 3, 2, 4

C. 3, 8, 3, 2, 4

D. 2, 3, 3, 3, 2

pCu + qHNO3 → rCu(NO3)2 + sNO + tH2O

https://dl.doubtnut.com/l/_6UsbNKkPynLc
https://dl.doubtnut.com/l/_Fnwzrvx4zIEo


Answer: C

Watch Video Solution

63. What is the correct representation of reaction occurring when HCl is

heated with  ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

MnO2

MnO
−
4 + 5Cl− + 8H + → Mn2 + + 5Cl− + 5H2O

MnO2 + 2Cl− + 4H + → Mn2 + + Cl2 + 2H2O

2MnO2 + 4Cl− + 8H + → 2Mn2 + + 2Cl2 + 4H2O

MnO2 + 4HCl → MnCl4 + Cl2 + H2O

64. When  is reduced with oxalic acid in acidic solution, the

oxidation number of  changes from

KMnO4

Mn

https://dl.doubtnut.com/l/_Fnwzrvx4zIEo
https://dl.doubtnut.com/l/_8LTLiU4d2ojX
https://dl.doubtnut.com/l/_Kgh3KWoFQDgt


A.  to 

B.  to 

C.  to 

D.  to 

Answer: C

Watch Video Solution

+2 +7

+4 +7

+7 +2

+6 +2

65. When a manganous salt is fused with a mixture of  and solid

NaOH, the oxidation number of Mn change from +2 to:

A. 

B. 

C. 

D. 

Answer: C

KNO3

+4

+3

+6

+7

https://dl.doubtnut.com/l/_Kgh3KWoFQDgt
https://dl.doubtnut.com/l/_QVkqsNlnDpEb


Watch Video Solution

66. For decolourisation of , the moles of  required

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1mol ofKMnO4 H2O2

1/2

3/2

5/2

7/2

67. The number of moles of  reduced by  of  ions is

A. 

B. 

K2Cr2O7 1mol Sn2 +

1/3

1/6

https://dl.doubtnut.com/l/_QVkqsNlnDpEb
https://dl.doubtnut.com/l/_e3XiXCSBpoRC
https://dl.doubtnut.com/l/_jbKUJNuUtjDl


C. 

D. 

Answer: A

Watch Video Solution

2/3

3/4

68. Which of the following colour changes shown during redox titrations

is not correct ?

A.  oxidises the indicator diphenylamine to produce blue

colour showing end point.

B. Iodine formed by oxidation of  ions gives blue colour with starch

showing end point.

C.  in the form of  ions gives pink colour showing end

point.

D. Thiosulphate ions  give blue colour showing end point.

Cr2O
2 −
7

I −

KMnO4 MnO
−
4

(S2O
2 −
3 )

https://dl.doubtnut.com/l/_jbKUJNuUtjDl
https://dl.doubtnut.com/l/_IGpoJd30MKIS


Answer: D

Watch Video Solution

69. Which of the following acts as a self-indicator ?

A. 

B. 

C. 

D. Iodine

Answer: B

Watch Video Solution

K2Cr2O7

KMnO4

Oxalicacid

70. Which of the following are the common oxidising agents used in

redox titrations ?

https://dl.doubtnut.com/l/_IGpoJd30MKIS
https://dl.doubtnut.com/l/_iQPRteQnaPcy
https://dl.doubtnut.com/l/_UaXzsTYeOOss


Mcqs Redox Reactions And Electrode Processes

A. , Iodine

B. , Sodium thiosulphate

C. Oxalic acid, 

D. Mohr's salt, KI, Sodium sulphate

Answer: A

Watch Video Solution

K2Cr2O7, KMnO4

FeSO4, KMnO4

KMnO4, CuSO4

1. Given below is the set up for Daniell cell. Label p, q, r, s, t in the given

figure. 

https://dl.doubtnut.com/l/_UaXzsTYeOOss
https://dl.doubtnut.com/l/_ansvcHaVjqO1


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

  p    q  r   s  t

Anode Cathode Salt Electron Current

bridge flow flow
  p    q  r   s  t

Cathode Anode Salt Current Electron

bridge flow flow
  p    q  r   s  t

Anode Cathode Salt Current Electron

bridge flow flow
  p    q  r   s  t

Cathode Anode Salt Ions Electron

bridge flow flow

https://dl.doubtnut.com/l/_ansvcHaVjqO1
https://dl.doubtnut.com/l/_VXfjO4QyyT78


2. Given below are few statements regarding electrode potentials. Mark

the correct statements.

A. (i) and (ii)

B. (i) and (iii)

C. (ii) and (iii)

D. (i), (ii) and (iii)

Answer: D

View Text Solution

3. What wil be the products of electrolysis of an aqueous solution of

 with silver electrodes ?

A. Ag from Ag anode dissolves while  from solution gets

deposited on cathode.

B. Ag is liberated at cathode and  is liberated at anode.

AgNO3

Ag+

O2

https://dl.doubtnut.com/l/_VXfjO4QyyT78
https://dl.doubtnut.com/l/_KmFpmoJbbvG4


C. Ag at cathode and nitric acid at anode is liberated.

D. No reaction takes place.

Answer: A

Watch Video Solution

4. What will be the products of electrolysis of  solution in water

with platinum electrodes ?

A. Ag is liberated at cathode and Ag is deposited in anode.

B. Ag is liberated at cathode and  is liberated at anode.

C. Ag is liberated at anode and water is liberated at cathode.

D. Ag is liberated at cathode and silver oxide is liberated at anode.

Answer: B

Watch Video Solution

AgNO3

O2

https://dl.doubtnut.com/l/_KmFpmoJbbvG4
https://dl.doubtnut.com/l/_4mYE1HsE33ZB
https://dl.doubtnut.com/l/_7cuAwhlSR9G6


5. In an oxidation proces for a cell, 

, 


the other metal  being univalent showing reduction takes up ......

Electrons to complete redox reaction.

A. (n-1)

B. 1

C. n

D. 2

Answer: C

Watch Video Solution

M1 → M n+
1 + ne−

(M2)

6. Which of the following reactions takes place at anode ?

A. Reduction

B. Oxidation

https://dl.doubtnut.com/l/_7cuAwhlSR9G6
https://dl.doubtnut.com/l/_4wjDGtx5Nstd


C. Decomposition

D. Dissolution

Answer: B

Watch Video Solution

7. Which of the following will act as cathode when connected to standard

hydrogen electrode which has  value given as zero ? 


(i)  


(ii)  


(iii)  


(iv) 
 (A)(i) and (ii)
 (B)(ii) and (iv)
 (C)(i) and

(iii)
(D)(i), (ii), (iii) and (iv)

A. (i) and (ii)

B. (ii) and (iv)

C. (i) and (iii)

E ∘

Zn2 + /Zn, E ∘ = − 0.76V

Cu2 + /Cu, E ∘ = + 0.34V

Al3 + /Al, E ∘ = − 1.66V

Hg2 + /Hg, E ∘ = + 0.885V

https://dl.doubtnut.com/l/_4wjDGtx5Nstd
https://dl.doubtnut.com/l/_aK0sTGf8zE52


D. (i), (ii), (iii) and (iv)

Answer: B

Watch Video Solution

8. Which of the following reaction does not take place at cathode ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ag+ → Ag − e−

Fe2 + → Fe3 + + e−

Cu2 + + 2e− → Cu

Al3 + → Al − 3e−

https://dl.doubtnut.com/l/_aK0sTGf8zE52
https://dl.doubtnut.com/l/_Z9gyPqKP2Fpn


9. Based on the following reactions, arrange the metals in increasing

order of their reduction potentials.

 


 


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu + 2Ag+ → Cu2 + + 2Ah

Mg + Zn2 + → Mg2 + + Zn

Zn + Cu2 + → Zn2 + + Cu

Mg > Zn > Cu > Ag

Mg < Zn < Cu < Ag

Zn > Cu > Ag > Mg

Mg > Cu > Zn > Ag

10. Which of the following is not a correct statement about

electrochemical series of reduction potentials ?
 (A)The standard

electrode potential of hydrogen is 0.00 volts.
 (B)Active non-metals have

https://dl.doubtnut.com/l/_Ek0kLBM7rk92
https://dl.doubtnut.com/l/_67X5PxmKTfb1


positive reduction potentials.
 (C)Active metals have negative reduction

potentials.
 (D)Metals which have positive reduction potentials are good

reducing agent

A. The standard electrode potential of hydrogen is 0.00 volts.

B. Active non-metals have positive reduction potentials.

C. Active metals have negative reduction potentials.

D. Metals which have positive reduction potentials are good reducing

agent.

Answer: D

Watch Video Solution

11. The solution in a beaker turns blue if

A. Cu electrode is placed in  solution

B. Cu electrode is placed in  solution

ZnSO4

AgNO3

https://dl.doubtnut.com/l/_67X5PxmKTfb1
https://dl.doubtnut.com/l/_mBWlkzUA1IkX


C. Cu electrode is placed in  solution

D. Cu electrode is placed in  solution

Answer: B

Watch Video Solution

Al2(SO4)3

FeSO4

12. The standard electrode potential a  is +0.80 V and of 

 is +0.34 V. These electrodes are connected through a salt

bridge and if :

A. copper electrode acts as cathode, then  is +0.46 volt

B. Silver electrode acts as anode, then  is -0.34 volt

C. Copper electrode acts as anode, then  is +0.46 volt

D. Silver electrode acts as cathode, then  is -0.34 volt

Answer: C

Watch Video Solution

Ag+ /Ag

Cu2 + /Cu

E ∘ cell

E ∘ cell

E ∘ cell

E ∘ cell

https://dl.doubtnut.com/l/_mBWlkzUA1IkX
https://dl.doubtnut.com/l/_QxMHRTs2ktN7


13. The  values of redox complex of halogens are given. Based on these

values mark the correct statement. 

, 


,
 (A)Chlorine can displace bromine and iodine from

their salt solutions.
 (B)Chlorine can only displace iodine from its salt

solution.
 (C)Bromine can displace chlorine from its salt solution.
 (D)Iodine

can displace chlorine and bromine from their salt solutions

A. Chlorine can displace bromine and iodine from their salt solutions.

B. Chlorine can only displace iodine from its salt solution.

C. Bromine can displace chlorine from its salt solution.

D. Iodine can displace chlorine and bromine from their salt solutions.

Answer: A

Watch Video Solution

E ∘

E ∘
I2 /CI − = + 0.54V , E ∘

Br2 /Br− = + 1.08V

E ∘
Cl2 /Cl− = + 1.36V

https://dl.doubtnut.com/l/_QxMHRTs2ktN7
https://dl.doubtnut.com/l/_vocUEt907Mkh


14. Arrange the following metals in the order in which they displace easy

other from the solution of their salts.  and .

A. Cu, Fe, Zn, Al, Mg

B. Fe, Zn, Cu, Al, Mg

C. Mg, Cu, Fe, Zn, Al

D. Mg, Al, Zn, Fe, Cu

Answer: D

Watch Video Solution

Al, Cu, Fe, Mg, Zn

15. Arrange the following metals in increasing order of their reducing

power. 

A. 

B. 

E ∘
K + /K

= − 2.93V , E ∘
Ag + /Ag

= + 0.80V , E ∘
Al3 /Al

= − 1.66VE ∘
Au3 + /Au

=

Li < K < Al < Ag < Au

Au < Ag < Al < K < Li

https://dl.doubtnut.com/l/_LbqmpJ6Mup3C
https://dl.doubtnut.com/l/_o86qcFChpzil


C. 

D. 

Answer: B

Watch Video Solution

K < Al < Au < Ag < Li

Al < Ag < Au < Li < K

16. A metal X displaces nickel from nickel sulphate solution but does not

displace manganese from manganese sulphate solution. What is the

correct order of their reducing powers ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ni > Mn > X

X > Mn > Ni

Mn > X > Ni

Mn > Ni > X

https://dl.doubtnut.com/l/_o86qcFChpzil
https://dl.doubtnut.com/l/_UjvP3IPRN3hw


17. Given

Which of the following statements is not correct ?

A.  does not oxidise .

B. Cu reduces  to Ag.

C. Ag will reduce  to Cu.

D.  oxidises Cu to 

Answer: C

Watch Video Solution

E ∘
Ag + /Ag

= + 0.80V , E ∘
Cu2 + /Cu

= + 0.34V , E ∘
Fe3 + /Fe2 + = + 0.76V , E ∘

Ce4

Fe3 + Ce3 +

Ag+

Cu2 +

Fe3 + Cu2 +

18. निम्नलिखित आयनो को इलेक्ट्रॉ न ग्रहण करने की बढ़ती क्षमता के  क्रम में लिखो ।

 तथा 

A. 

H + , Mg2 + , K + , Ag+ , Zn2 + Cu2 +

Ag+ > H + > Zn2 + > Mg2 + > K +

https://dl.doubtnut.com/l/_UjvP3IPRN3hw
https://dl.doubtnut.com/l/_erIBhOe9FaCH
https://dl.doubtnut.com/l/_zvxL1iv8mQCM


B. 

C. 

D. 

Answer: A

Watch Video Solution

H + > Zn2 + > Mg2 + > K + > Ag+

K + > Mg2 + > Zn2 + > H + > Ag+

Mg2 + > Zn2 + > K + > H +

19. What will be the order of decreasing reducing nature for the given

metals ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Zn > Na > Fe > Mg > Cu > Ag

Cu > Fe > Mg > Zn > Na > Ag

Ag > Cu > Fe > Zn > Mg > Na

Na > Mg > Zn > Fe > Cu > Ag

https://dl.doubtnut.com/l/_zvxL1iv8mQCM
https://dl.doubtnut.com/l/_ugQYjSZWpstY


20. Which of the following is the strongest oxidizing agent ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2

Cl2

Br2

I2

21. Fluorine is the best oxidising agent because it has

A. it is most electronegative .

B. it has highest reduction potential.

C. it has highest oxidation potential.

D. it has smallest size.

https://dl.doubtnut.com/l/_ugQYjSZWpstY
https://dl.doubtnut.com/l/_MKcxS4F2GGS7
https://dl.doubtnut.com/l/_pc6tD45Xcj4g


Redox Reactions And Electrode Processes

Answer: B

Watch Video Solution

22. Which of the following halides is most acidic ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F −

Br−

I −

Cl−

https://dl.doubtnut.com/l/_pc6tD45Xcj4g
https://dl.doubtnut.com/l/_Fs41CgZu0tgf


1. Given below are few statements regarding electrode potentials. Mark

the correct statements.

A. (i) and (ii)

B. (i) and (iii)

C. (ii) and (iii)

D. (i), (ii) and (iii)

Answer: D

View Text Solution

2. What wil be the products of electrolysis of an aqueous solution of

 with silver electrodes ?

A. Ag from Ag anode dissolves while  from solution gets

deposited on cathode.

B. Ag is liberated at cathode and  is liberated at anode.

AgNO3

Ag+

O2

https://dl.doubtnut.com/l/_VXfjO4QyyT78
https://dl.doubtnut.com/l/_KmFpmoJbbvG4


C. Ag at cathode and nitric acid at anode is liberated.

D. No reaction takes place.

Answer: A

Watch Video Solution

3. What will be the products of electrolysis of  solution in water

with platinum electrodes ?

A. Ag is liberated at cathode and Ag is deposited in anode.

B. Ag is liberated at cathode and  is liberated at anode.

C. Ag is liberated at anode and water is liberated at cathode.

D. Ag is liberated at cathode and silver oxide is liberated at anode.

Answer: B

Watch Video Solution

AgNO3

O2

https://dl.doubtnut.com/l/_KmFpmoJbbvG4
https://dl.doubtnut.com/l/_4mYE1HsE33ZB
https://dl.doubtnut.com/l/_7cuAwhlSR9G6


4. In an oxidation proces for a cell, 

, 


the other metal  being univalent showing reduction takes up ......

Electrons to complete redox reaction.

A. (n-1)

B. 1

C. n

D. 2

Answer: C

Watch Video Solution

M1 → M n+
1 + ne−

(M2)

5. Which of the following reactions takes place at anode ?

A. Reduction

B. Oxidation

https://dl.doubtnut.com/l/_7cuAwhlSR9G6
https://dl.doubtnut.com/l/_4wjDGtx5Nstd


C. Decomposition

D. Dissolution

Answer: B

Watch Video Solution

6. Which of the following will act as cathode when connected to standard

hydrogen electrode which has  value given as zero ? 


(i)  


(ii)  


(iii)  


(iv) 
 (A)(i) and (ii)
 (B)(ii) and (iv)
 (C)(i) and

(iii)
(D)(i), (ii), (iii) and (iv)

A. (i) and (ii)

B. (ii) and (iv)

C. (i) and (iii)

E ∘

Zn2 + /Zn, E ∘ = − 0.76V

Cu2 + /Cu, E ∘ = + 0.34V

Al3 + /Al, E ∘ = − 1.66V

Hg2 + /Hg, E ∘ = + 0.885V

https://dl.doubtnut.com/l/_4wjDGtx5Nstd
https://dl.doubtnut.com/l/_aK0sTGf8zE52


D. (i), (ii), (iii) and (iv)

Answer: B

Watch Video Solution

7. Which of the following reaction does not take place at cathode ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ag+ → Ag − e−

Fe2 + → Fe3 + + e−

Cu2 + + 2e− → Cu

Al3 + → Al − 3e−

https://dl.doubtnut.com/l/_aK0sTGf8zE52
https://dl.doubtnut.com/l/_Z9gyPqKP2Fpn


8. Based on the following reactions, arrange the metals in increasing

order of their reduction potentials.

 


 


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu + 2Ag+ → Cu2 + + 2Ah

Mg + Zn2 + → Mg2 + + Zn

Zn + Cu2 + → Zn2 + + Cu

Mg > Zn > Cu > Ag

Mg < Zn < Cu < Ag

Zn > Cu > Ag > Mg

Mg > Cu > Zn > Ag

9. Which of the following is not a correct statement about

electrochemical series of reduction potentials ?
 (A)The standard

electrode potential of hydrogen is 0.00 volts.
 (B)Active non-metals have

https://dl.doubtnut.com/l/_Ek0kLBM7rk92
https://dl.doubtnut.com/l/_67X5PxmKTfb1


positive reduction potentials.
 (C)Active metals have negative reduction

potentials.
 (D)Metals which have positive reduction potentials are good

reducing agent

A. The standard electrode potential of hydrogen is 0.00 volts.

B. Active non-metals have positive reduction potentials.

C. Active metals have negative reduction potentials.

D. Metals which have positive reduction potentials are good reducing

agent.

Answer: D

Watch Video Solution

10. If a spoon of copper metal is placed in a solution of , what will

be the correct observation ? 

FeSO4

https://dl.doubtnut.com/l/_67X5PxmKTfb1
https://dl.doubtnut.com/l/_KdEBW8xmEDFW



 (A)Copper is

dissolved in F
e
S
O
4
to give brown deposit.
 (B)No reaction takes place.

(C)Iron is deposited on copper spoon.
 (D)Both copper and iron are

precipitated

A. Copper is dissolved in  to give brown deposit.

B. No reaction takes place.

C. Iron is deposited on copper spoon.

D. Both copper and iron are precipitated.

Answer: B

Watch Video Solution

FeSO4

https://dl.doubtnut.com/l/_KdEBW8xmEDFW


11. The solution in a beaker turns blue if

A. Cu electrode is placed in  solution

B. Cu electrode is placed in  solution

C. Cu electrode is placed in  solution

D. Cu electrode is placed in  solution

Answer: B

Watch Video Solution

ZnSO4

AgNO3

Al2(SO4)3

FeSO4

12. The standard electrode potential a  is +0.80 V and of 

 is +0.34 V. These electrodes are connected through a salt

bridge and if :

A. copper electrode acts as cathode, then  is +0.46 volt

B. Silver electrode acts as anode, then  is -0.34 volt

C. Copper electrode acts as anode, then  is +0.46 volt

Ag+ /Ag

Cu2 + /Cu

E ∘ cell

E ∘ cell

E ∘ cell

https://dl.doubtnut.com/l/_mBWlkzUA1IkX
https://dl.doubtnut.com/l/_QxMHRTs2ktN7


D. Silver electrode acts as cathode, then  is -0.34 volt

Answer: C

Watch Video Solution

E ∘ cell

13. The  values of redox complex of halogens are given. Based on these

values mark the correct statement. 

, 


,
 (A)Chlorine can displace bromine and iodine from

their salt solutions.
 (B)Chlorine can only displace iodine from its salt

solution.
 (C)Bromine can displace chlorine from its salt solution.
 (D)Iodine

can displace chlorine and bromine from their salt solutions

A. Chlorine can displace bromine and iodine from their salt solutions.

B. Chlorine can only displace iodine from its salt solution.

C. Bromine can displace chlorine from its salt solution.

D. Iodine can displace chlorine and bromine from their salt solutions.

E ∘

E ∘
I2 /CI − = + 0.54V , E ∘

Br2 /Br− = + 1.08V

E ∘
Cl2 /Cl− = + 1.36V

https://dl.doubtnut.com/l/_QxMHRTs2ktN7
https://dl.doubtnut.com/l/_vocUEt907Mkh


Answer: A

Watch Video Solution

14. Arrange the following metals in the order in which they displace easy

other from the solution of their salts.  and .

A. Cu, Fe, Zn, Al, Mg

B. Fe, Zn, Cu, Al, Mg

C. Mg, Cu, Fe, Zn, Al

D. Mg, Al, Zn, Fe, Cu

Answer: D

Watch Video Solution

Al, Cu, Fe, Mg, Zn

15. Arrange the following metals in increasing order of their reducing

power. 

https://dl.doubtnut.com/l/_vocUEt907Mkh
https://dl.doubtnut.com/l/_LbqmpJ6Mup3C
https://dl.doubtnut.com/l/_o86qcFChpzil


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

E ∘
K + /K

= − 2.93V , E ∘
Ag + /Ag

= + 0.80V , E ∘
Al3 /Al

= − 1.66VE ∘
Au3 + /Au

=

Li < K < Al < Ag < Au

Au < Ag < Al < K < Li

K < Al < Au < Ag < Li

Al < Ag < Au < Li < K

16. A metal X displaces nickel from nickel sulphate solution but does not

displace manganese from manganese sulphate solution. What is the

correct order of their reducing powers ?

A. 

B. 

C. 

Ni > Mn > X

X > Mn > Ni

Mn > X > Ni

https://dl.doubtnut.com/l/_o86qcFChpzil
https://dl.doubtnut.com/l/_UjvP3IPRN3hw


D. 

Answer: C

Watch Video Solution

Mn > Ni > X

17. Given

Which of the following statements is not correct ?

A.  does not oxidise .

B. Cu reduces  to Ag.

C. Ag will reduce  to Cu.

D.  oxidises Cu to 

Answer: C

Watch Video Solution

E ∘
Ag + /Ag

= + 0.80V , E ∘
Cu2 + /Cu

= + 0.34V , E ∘
Fe3 + /Fe2 + = + 0.76V , E ∘

Ce4

Fe3 + Ce3 +

Ag+

Cu2 +

Fe3 + Cu2 +

https://dl.doubtnut.com/l/_UjvP3IPRN3hw
https://dl.doubtnut.com/l/_erIBhOe9FaCH
https://dl.doubtnut.com/l/_zvxL1iv8mQCM


18. निम्नलिखित आयनो को इलेक्ट्रॉ न ग्रहण करने की बढ़ती क्षमता के  क्रम में लिखो ।

 तथा 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H + , Mg2 + , K + , Ag+ , Zn2 + Cu2 +

Ag+ > H + > Zn2 + > Mg2 + > K +

H + > Zn2 + > Mg2 + > K + > Ag+

K + > Mg2 + > Zn2 + > H + > Ag+

Mg2 + > Zn2 + > K + > H +

19. What will be the order of decreasing reducing nature for the given

metals ?

A. 

B. 

C. 

Zn > Na > Fe > Mg > Cu > Ag

Cu > Fe > Mg > Zn > Na > Ag

Ag > Cu > Fe > Zn > Mg > Na

https://dl.doubtnut.com/l/_zvxL1iv8mQCM
https://dl.doubtnut.com/l/_ugQYjSZWpstY


D. 

Answer: D

Watch Video Solution

Na > Mg > Zn > Fe > Cu > Ag

20. Which of the following is the strongest oxidizing agent ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2

Cl2

Br2

I2

21. Fluorine is the best oxidising agent because it has

https://dl.doubtnut.com/l/_ugQYjSZWpstY
https://dl.doubtnut.com/l/_MKcxS4F2GGS7
https://dl.doubtnut.com/l/_pc6tD45Xcj4g


A. it is most electronegative .

B. it has highest reduction potential.

C. it has highest oxidation potential.

D. it has smallest size.

Answer: B

Watch Video Solution

22. Which of the following halides is most acidic ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F −

Br−

I −

Cl−

https://dl.doubtnut.com/l/_pc6tD45Xcj4g
https://dl.doubtnut.com/l/_Fs41CgZu0tgf


Ncert Exemplar

1. Which of the following is not an example of redox reaction?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CuO + H2 → Cu + H2O

Fe2O3 + 3CO → 2Fe + 3CO2

2K + F2 → 2KF

BaCl2 + H2SO4 → BaSO4 + 2HCl

2. The more positive the value of , the greater is the trendency of the

species to get reduced. Using the standard electrode potential of redox

coples given below find out which of the following is the strongest

oxidising agent. 

E θ

https://dl.doubtnut.com/l/_Fs41CgZu0tgf
https://dl.doubtnut.com/l/_Anrm5UapnrT2
https://dl.doubtnut.com/l/_3EhtOE1Dp4yV


 values:  


, 


A. 

B. 

C. 

D. 'Ag^(+)'

Answer: D

Watch Video Solution

E θ Fe3 + /Fe2 + = + 0.77

I2(s) /I − = + 0.54

Cu2 + /Cu = + 0.34, Ag+ /Ag = 0.80V

Fe3 +

I2 ( s )

Cu2 +

3.  values of some redox couples are given below. On the basis of

these values choose the correct option. 

 values:  


 


E θ

E θ Brt2 /Br− = + 1.90

Ag+ /Ag(s) = + 0.80

Cu2 + /Cu(s) = + 0.34, I2(s) /I − = + 0.54

https://dl.doubtnut.com/l/_3EhtOE1Dp4yV
https://dl.doubtnut.com/l/_fsDmziW0mo0H


A. Cu will reduce 

B. Cu will reduce Ag

C. Cu will reduce 

D. Cu will reduce 

Answer: D

Watch Video Solution

Br−

I −

Br2

4. Using the standard electrode potential, find out the pair between

which redox reaction is not feasible.  values : 

 


A.  and 

B.  and Cu

C.  and Cu

D. Ag and 

E ∘

Fe3 + /Fe2 + = + 0.77, I2 /I − = + 0.54V

Cu2 + /Cu = + 0.34V , Ag+ /Ag = + 0.80V

Fe3 + I −

Ag+

Fe3 +

Fe3 +

https://dl.doubtnut.com/l/_fsDmziW0mo0H
https://dl.doubtnut.com/l/_esxVWLzbPlaq


Answer: D

Watch Video Solution

5. Thiosulphate reacts differently with iodine and bromine in the

reactions given below : 

 

 


Which of the following statements justifies the above dual behaviour of

thiosulphate ?

A. Bromine is a stronger oxidant than iodine.

B. Bromine is a weaker oxidant than iodine.

C. Thiosulphate undergoes oxidation by bromine and reduction by

iodine in these reactions.

D. Bromine undergoes oxidation and iodine undergoes reduction in

these reactions.

S2O
2 −
3 + I2 → S4O

2 −
6 + 2I −

S2O
2 −
3 + 2Br2 + 5H2O → 2SO2 −

4 + 2Br− + 10H +

https://dl.doubtnut.com/l/_esxVWLzbPlaq
https://dl.doubtnut.com/l/_xTVKHaWPBvJw


Answer: A

Watch Video Solution

6. The oxidation number of an element in a compound is evaluated on the

basis of certain rules. Which of the following rules is not correct in this

respect ?

A. The oxidation number of hydrogen is always +1.

B. The algebraic sum of all the oxidation numbers in a compound is

zero.

C. An element in the free or the uncombined state bears oxidation

number zero.

D. In all its compounds, the oxidation number of fluorine is -1.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_xTVKHaWPBvJw
https://dl.doubtnut.com/l/_0qiDc4UtikV8


7. In which of the following compounds, an elements exhibits two

different oxidation states?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NH2OH

NH4NO3

N2H4

N3H

8. Which of the following arrangements represent increaseing oxidation

number of the central atom?

A. 

B. 

C. 

CrO−
2 , ClO−

3 , CrO2 −
4 , MnO

−
4

ClO−
3 , CrO2 −

4 , MnO
−
4 , CrO−

2

CrO−
2 , ClO−

3 , MNO
−
4 , CrO2 −

4

https://dl.doubtnut.com/l/_WhzTUHeu7pyI
https://dl.doubtnut.com/l/_t7hOsucrOgiY


D. 

Answer: A

Watch Video Solution

CrO
2 −
4 , MnO

−
4 , CrO−

2 , ClO−
3

9. The largest oxidation number exhibited by an element depends on its

outer eletronic configuration. With which of the following outer

electronic configurations the element will exhibit largest oxidation

number ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3d14s2

3d34s2

3d54s1

3d54s2

https://dl.doubtnut.com/l/_t7hOsucrOgiY
https://dl.doubtnut.com/l/_OtWB6OKTegx2


10. Identify the disproportionation reaction.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH4 + 2O2 → CO2 + 2H2O

CH4 + 4Cl2 → CCl4 + 4HCl

2F2 + 2OH − → 2F − + OF2 + H2O

2NO2 + 2OH − → NO−
2 + NO3 + H2O

11. Which of the following elements does not show disproportionation

tendency?

A. Cl

B. Br

C. F

D. I

https://dl.doubtnut.com/l/_TPctFWxvtHYO
https://dl.doubtnut.com/l/_MKJs4o2dX1Ou


Assertion And Reason

Answer: C

Watch Video Solution

1. Assertion : Conversion of potassium ferrocyanide to potassium

ferricyanide is an oxidation process. 

Reason : Oxidation is the addition of oxygen/electronegative element to a

substance or removal of hydrogen/electropositive element from a

substance.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

https://dl.doubtnut.com/l/_MKJs4o2dX1Ou
https://dl.doubtnut.com/l/_YhiP0sJYR5MC


D. If both assertion and reason are false.

Answer: A

Watch Video Solution

2. Justify that the reaction 

 a redox reaction. Identify the

species oxidised reduced. Which acts as an oxidanat and which acts as a

reductant?

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

2Cu2Os + Cu2S(s) → 6Cu(s) + SO2(g)

/

https://dl.doubtnut.com/l/_YhiP0sJYR5MC
https://dl.doubtnut.com/l/_GrwHjqmp6v59


Answer: D

Watch Video Solution

3. Assertion :  can act both as a reducing agent and an oxidising

agent. 

Reason : In , oxidation state of nitrogen is +3 which can change

from -3 to +5.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

HNO2

HNO2

https://dl.doubtnut.com/l/_GrwHjqmp6v59
https://dl.doubtnut.com/l/_rDEzuRa5NHyN


4. Assertion : Decomposition of potassium chlorate is an example of

redox reaction . 

Reason : There is no change in the oxidation number of potassium in

decomposition of potassium chlorate.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rDEzuRa5NHyN
https://dl.doubtnut.com/l/_yGLFSXIRKa4b


5. Assertion : Displacement reactions of chlorine, bromine and iodine

using fluorine are not generally carried out in aqueous solution. 

Reason : Fluorine being highly reactive attacks water and displaces the

oxygen of water.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SsDYeFfODxsj


6. Assertion : Decomposition of hydrogen peroxide is an example of

disproportionation reaction. 

Reason : In a disproportionation reaction, an element in one oxidation

state is simultaneously oxidised and reduced .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ji4cNLtf1Bsu


7. Assertion :  does not show disproportionation reaction. 


Reason : In  , chlorine is present in its highest oxidation state .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

CO
−
4

ClO
−
4

8. Assertion : All halogens undergo disproportionation reaction in

alkaline medium. 

Reason : All halogens exhibit variable oxidation states.

https://dl.doubtnut.com/l/_7cYLAQa1hHCt
https://dl.doubtnut.com/l/_zoMHHarCGGVm


A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

Watch Video Solution

9. Assertion : The only way to get  form  is to oxidise electrolytically.

Reason : The recovery of halogens from their halides requires an

oxidation process.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

F2 F −

https://dl.doubtnut.com/l/_zoMHHarCGGVm
https://dl.doubtnut.com/l/_VjtPg13MCSEA


B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

10. Assertion: Oxygen atom in both  and  has oxidation number

zero. 

Reason: In , oxidation number of  is .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

O2 O3

F2O O +2

https://dl.doubtnut.com/l/_VjtPg13MCSEA
https://dl.doubtnut.com/l/_Oqm3DjKGfM33


D. If both assertion and reason are false.

Answer: D

Watch Video Solution

11. Assertion : In the species,  each of the two extreme sulphurs

exhibits oxidation state of +5 and the two middle sulphurs as zero. 

Reason : The average of four oxidation numbers of sulphurs of the

 is 2.5.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

S4O
2 −
6

S4O
2 −
6

https://dl.doubtnut.com/l/_Oqm3DjKGfM33
https://dl.doubtnut.com/l/_YvLFemDXfH0H


Answer: B

Watch Video Solution

12. Assertion : In titrations involving potassium permanganate no

indicator is used. 

Reason :  acts as the self-indicator.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

MnO
−
4

https://dl.doubtnut.com/l/_YvLFemDXfH0H
https://dl.doubtnut.com/l/_sRz9bmcNvWYV


13. Assertion : The transfer of electrons from zinc to copper takes place

through metal wire connecting the two rods. 

Reason : Electricity from solution in one beaker to other flows by

migration of ions through the salt bridge.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0cTMA4WKCdTg


14. Assertion : Insert electrolytes like KCl,  are used in salt bridge. 


Reason : Salt bridge provides an electric contact between the two

solutions without allowing them to mix with each other.

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

KNO3

15. Assertion : A metal having negative reduction potential when dipped

in the solution of its own ions has a tendency to pass into solution . 

https://dl.doubtnut.com/l/_tWeKC1CNnIyx
https://dl.doubtnut.com/l/_XGCsJEsWuiYx


Reason : Metals undergo reduction .

A. If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true but reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XGCsJEsWuiYx

